CHAPTER

Comprehension

Pattern of ‘Passages’

unes.liﬂ?ls a passage of 100-208 words is Ziven and students have vo read and comprehend written material, o
and to evaluale r{re matler of passage. There are 05 -06 passages and ustolly 03 questions are asked from each
F"‘ﬂrl The passages discuss lopics rfi'ﬂm the social sciences, humanities, the physical or biological sciences, or other
ciories of armed forees; experiences of author or others in various journeys, services or life itself. The passages

" wcompanied bﬁ’ﬂ""’“"“"s ‘*t"“. will ask you to interpret the passage, to apply the information you gather from the
procing: and make inferences (or informed assumpiions) based on the reading.

oin ldea/Theme/Purpose Baged Questions

passage is a unified whole —that

15, the individual in idea
f:z“t,-a] ot Sometimes you will sentences and paragraphs support and develop one main |

. Ll be told the centrel point in the pesaage itself, and sometimes it will be necessary
to determine the central point from the overall arganization or development of the passage. You may be asked

o this kind of question to Recognize 2 correct restatement, or peraphrasing, of the main iden of a paasage, identifly the

zothar’s PTIMELY purpose ar nbjective in writing the passage ,assign a title that summarizes, briefly and pointedly, the

waic ideg developed in the passage.

supporiing kdea Based Questions

These questions measure your ability to comprebend the supporting ideas in passage and differentiate them from the
pain idea. The question 8lso measures your ability to differentiate ideas that are explicitly steted in & paegage from
weas that ave implied by the author but that are not explicitly stated. You may be asked abous. Facts cited in a

msssge. The content of examples presented by the auther in support of his or her views. Descriptive details used to
sppert v elaborate on the main idea '

+ Whereas questions about the a main idea about main idea ask you to determine the mesning of a passage as a
wholz | questions about supporting ideas ask you to determine the meanings of individual sentences that contribute
l the meaning of the paseage as a whole. In other words, these questiong ask for the main point of small part of the
PUSBARE. '

Inference Based Questions
¢ Moot of the quéstions ere based on this pattern in comprehension part of CDS exam. Thesa questions ask about the

ide33 that are not explicitly stated in a passege but are implied by the author. Unlike questions about supporting

details, which agk about information that is directly stated in a pagsage, inferenca questions agk about ideas or

téanings that must be inferred from information that ie directly stated. Authors can meke their points in indirect

¥ays, suggestivig ideas without actually stating them. Inference guestions measure your ability to understand an
g intended meaning in paris of a passage where the meaning is only suggested. These questions de not ask
meanings or implications that are apecifically suggeated by the author.

¥riting Sty¥le Questions
Questions require you to analyze and evaluate the organization and logic of a passage. They may ask you
: Hﬁ*mm ia conatructed — for instance, does 1t define, compare or contrast, present & new idea, or refute an idea?
feason befliind the author’s use of any particular style of writing sentences two short then one long, a
Ination of small sentence or use of too many analogies etc. To identify esaumptions that the author is making
. Tur“"“i% 2ppropriate ¢ounterarguments
% Yuestions mepgure your ability not only to comprahend a passage but alao to evaluate it critically.
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Questions About the Tone of Passage

Style and tone guestions a=k about the expressien of a passagy and about the ideus in & passage that may be ex

through its diction ~the author's choice of words, You may be asked to deduce the author's attitude to an idea ap;'.ﬁw

& situation from the worda thut he or she uses to describe it. You may be expressed through its diction - f_h; au‘:f;;'
&

choice of worda.
& To answer this type of question, you will have to consider the language of the passage as a whole. [t takes more thyp

one pointed, critical word to make the tone of an entire pasgage ‘critical’. Sometimes, style and tone guestinng
what audience the pRSSAEE WAE probably intended for or what type of publication it probably appeared in. Style :n't
tone questions may 2pply to one small part of the passage or Lo the passage as a whele. To answer them, you mugt
ash yourself what meanings are contained in the words of a passage beyond the literal meanings.

Some Points to Attempt Passages

Reading ﬂ_:-mpne}tens;’on questions measure your abilily to endersiard, analyse and apply information and concepta
presenied in written form. All questions are to be anpwered on the bosis of what is stated or implied in the reading

material, and no specific prior knowledge of the maieriai is required.
The reading comprehension questions evaluate your ahbility to do following:

Understand Words and Statements

# Although the question do not test your vopabulary {they will not a
to interpret special meamings of terms as they are used in the
interpret special terms as they are used in the reading passages. The questions will
the English language. These questions may ask about the overall meaning of a passage.

Understand Logical Relationships Between Points and Concepts
s This type of question may ask you to determine or evaluate the relative importance of arguments and ideas in a

pABSEFE-

Draw Inferences from the Facts and Statements
to conaider factual statemente or information presented in a reading passage

sk you to define terms), they do test your ability
reading passages. They do test your ability ta
alap test your understanding of

e The inference queations will aak you _
and on the baeis of that information, reaches conclusions.

¢ Understand and follow the development of quantitative concepts as they are presented in written materipl.

Points to be Rememeher

the material presented In reading comprehension passages.
ve a specific and detailed understanding of the

i iiscussed in the passage.

0 Da not expect to be completely familiar with any of
O Analyze each passage carefully, because the questions require you to ha
material.
O Fotus on key words and phrases, and make every effort to gvoid Josing the sense of what
3 Keep the following in mind:

{i) Note haw each fact relates te an idea or an argument.

{iii) Separate main jdeas from supporting ideas
Q Read the questions carefully, making certain that you understands what is asked. . _
Q An answer choice that accurately restates information in the passage may pe fncorrect iF it does not  answer the question. If
s !:e:dm to, refir hack to the passage for clarification. _

all the chokes carefully.

& Never . '
Bsume thot have sekected the best answer without first reading al) the choices, e —

(ii] Note where the passage WOVES from one idea to mext
(i) Determine what conclusions are reached and why.




Passage 1

~omic theory does not differentiate
4 ngn,renmme materials, ag
AN hing by means of a money

ot © - rive fuels like coal, oil, wood an
sl o berween them recognised by modern economics
i éﬁfﬁf:: per equivalent unit. The cheapest is automatically
be preferred, as to do otherwise would be irrational
o m,-,urnif- from a Budd1hi5£ point of view, of course, this
" dnce the essential difference berween non-renewable
¢ coal and oil on the one hand and renewable sources
wer and water-power on the other cannot be
erlooked. Non-renewable goods must be ysed only if
s indispensable and thﬂ_‘u only with the greatest care
¢ concern for conservation. To use them carelessly or
andy i an act ofl wulencaI and while complere
¥ lence may not be possible on this earth, it is nonetheless
1 oyoiman ©© aim at the ideal of non-violence in all he does,

which of the following statements is/are correct on
{he basis of ‘mlormati_un in the above passage?

1. Buddhist economists totally prohibit the use of
non-renewable sources,

2 The attitude of modermn economists
natural resources is uneconomic

3. Complete non-violence is not possible,

Select the correct answer using the codes given below.
fa) 1only [b) 2 only  (c) 3 only (d) 1 and 3

The Buddhist viewpoint implies
[3) conservation should be given the highest consideration
(b} hydel projects are highly capital intensive
[l oit is to be preferred since it does not produce ash

[9) money economics should govern the choice of energy
Sources

: between
'E‘I approach is o
brice. Thus, raking
d water-power; the

towards

Buddhist economists are not in favour of
lé] economic development
o) world economy being governed by oil prices
fd using non-renewable sources indiscriminately
6) hamessing wind energy

I this passage, the author has tried to
$how that the modern economist is concerned only
Wwith costs
B underlne the need for conserving natural resources
Ufferentiate between the two economic philosophies
“pléin the impact of il on the world economy

LT Passage 2

.? “,Gbem’“ﬂ more and more affluent, people would
e, o ShOrter hours at cheir regular employment so
P IOV longer hours of leisure during which they

e
More congenial activities. They will not like to

&

in

waste their leisure time performing routine domestic chores
which would be capable of performing many of these
monotonous chores is one that will appeal to many, Already
robots are used in mines and factories to perform tasks which
are too risky for human beings. It takes a lor of research by
dedicated scientists and sufficient financial backing for a model
to be developed to perform a new task. This in turn depends
on the number of people who feel the need for a robot to
perform these specific tasks. The problem of designing a robot
capable of performing various routine tasks around the house
is not insurmountable. A domestic robot slave with its own
computer and response mechanism and source of power,
which can be programmed to perform certain specific tasks, is
not an impossibility.

9. In an alfluent society people prefer to work shorter
hours because
(a) ‘they are lazy
(b) they do not have the strength to work
(c) they want time to carry out other activities
(d) they abhor their work
6. Domestic chores
[a) are welcome by housewives
(b) are too demanding
() lead to family discord
(d) are too time consuming
1. Robots are already used in mines and factories to
perform
(a) hazardous tasks
(b) tasks with greater efficiency than human beings
[c) tasks which lead to economy in the operations
(d) tasks which are forbidden by the labour laws
8.  Developing a robot capable of performing a new task
(a) is difficult for the scientists
(b) is impossible for the scientists
() requires huge capital
(d) depends on the number of people who require it
9. 'The word 'insurmountable’ in the passage means
(a) unattainable {b) impossible
(¢} inseparable (d) insignificant
Passage 3

The energy crisis has been with us for a long time and will be
with us even longer, Whether Arab oil flows freely or nor, it is
clear that the world industry cannot be allowed to depend on
so fragile a base. The supply of oil can be shut off at whim any
time. In any case, the oil wells will run dry in about thirty years.
New sources of energy must be found and this will take time.

But it is not likely to restore that sense of copious energy
availabilicy we had in the past,
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10, In the writer's opinion, the energy crisis |
fa) is 2n cutcome of unregulated supply of ol tor ingustries
(b) wili subside as soon as the Arab ol begins (o Row
again

{e] is very liely to lead to the world war

{d} wail remain wath ws far an almost indefinite period of
lime

The phrase ‘s¢ fragile a base’ refers to the
{3l current energy crisis in the world
ib) uncertainity aboul the fAow of Arab odl
{c] delay m finding the new energy sources
{d] drying up of the pil wells in fulure

iZ2  The type of writing in the given passage could be

11

called
fa} cfficial [l scientific
ic} popular id) political
Passage 4

All who have gone before you have submucted co che stroke of
death. All who come after you shall undergn the same fate, The
preat and the good, the prince and the peasant, the renowned
and the obscure travel alike the road which leads (¢ the grave.
At the moment when you expire. thousands thraughout the
world shall with you, be yielding up their breach. Can thar be
held to be a grear calamity which is common to you with
everything thar hves on the earth-which is an event as much
according ro the course of the narure, as it is thac leaves shall
faltin autumn or thac fruit should drop from the ree when icis

fully ripe.
13. Death is a petural phenomenon because
la) the moment you die, thousands of people atl over the

world die with you
b it i as matural a5 the fall of leaves or fruits from the

trees

(c} many people have died in the pasi

(@) the great and the good, the prince and the peasant,
the rencwned and the obscure, afl die

14 The suthor compares death with the fall of the ripe
inot rom & tree to show that death
(a] ococurs in natre ako
(o} is 2 Xind of fall from a great height
Ic} gives freedom from the ordeals of life
[d) ocours with the schievement of fullness

15, Which one of the lollowing sentences shows that
death B & greal levellar?
E:l -;'L whe come after you shall undego the same fate
e :HML:;# the good, the prince and_the peasant,
] and the obscure travel alike the road

W) AN whe haye
roke of degr ¢ TG YOU have submitted to the

Passage 5
| was late bloorner amd always envied those PEople who g
out i high school because | didn'e. | learned early an ¢k
that 1t's essennial to set yourself apart from the groyg, Life
one struggle after another ro succeed. parucularly when mu-m
scarring our. )f your brodara 1s sitting at the botcom of 5 P'HE:;
junk mail sometmes a distincuve approach wili €0 yoy
roticed, especially if the competition is fierce.
Cnce my partner Jerry and | asked the ocher freelanca writers of
a TV serial what characters they hated ro wnte for the Mmost
Everybody said the same thing-they disiked WIITING for the
minor characters because chey chought that wriung for thern
wouldn't help them ger other jobs. Jerry and | decided thay we
would write scripts for the rminor character because thar's whar
was needed and we needed 1o set ourselves apare.
In the first script ferry and | wrote a schoolgir! falls in fove wig,
2 boy in her class. The producers loved the story. And with thyy
onre scrpl, Jerry and | owere no longer Just  another

comedy-writing team.

16.  The author is of the opinion that
(al one should be part af the group |
) one should be differem from others
{z] it & important by da well in high schogl
[l one should heed to the advice of the seniors

1/, The author had heen ]
la) into advertising business [b] a comedy writer
ic) a music director {d} a news reader

18.  Accarding tv the author
fa} one should be wery meticulous in prepaning his biodata

ib] competition in the job-market it very ferce
{c) one should follow 3 conservative approach in prepating
his biodata :
{d) one shoukd try to get noticed by being innavstive
19. Jerry and the author wrot» scfipts for the minor
characlers £
() to realize their creative potential™’
{b) o earn mare money at
{t] to establich a different image o
id) because they did not have enough wark

Passage 6"

wind power has obvious advantage is”it is non-poliuting
causes no ecological imbalance, requires no throughput fuel
and has extrémely low gestation perioc'i."‘

After almest a decade of sporadic growth, wind energy finally
seems 1o be stepping cut from shadows of alternative
technology into the cammercial mainstream, worldwide. Even
though India now has an installed base of jusc over 1600 MW,
this is nothing compared to COUﬂtriEi__ﬁlil.l.'l';}'l as Germany which
meets 2¢ around the 20 per cent of jog energy requirements
from wind energy. o

R

e o s, ,



erm price stability tao. Not only are
pffers :ﬂﬂs.::;‘l pl?rchCES low. bur the Capical
Pl (s~ mparable to fossil fuel-based stacions,
ﬂ,‘nﬂ;‘ﬁ s alsohaw low operating and maintenance costs,
'ff'# phmics work out to be quite favourable for che
wg#"'« con®m it is being seen as a solution to sustainable
l"ﬁ:ﬂ' ";f:h: end of 2001, the installed wind powey was
/ 300 MW

;w:d;f:w plants ke 3 long time 1o get
wsined

enance cost of wind-power plants is Righ
M::‘_pﬂ“r plants lead 10 viclent vibrations
E‘:fﬂd'w plants require no fus

one of the following is correct?

i yeullation  of  wind-power g
bl onmentalsts

o generation cost of wind-power plants is high

flation cost of wind-power plants is much higher
o E of fossil fuel-based plants

i) Wind-pawer i5 now being commiercially. harnessad
Which one of the lollowing is correct?

L Gomany, 25000 MW of ekectricity s generated by
using wind-pawer

tj Wind-power plants offer no price stability

I Wind-power is economically viable on long-term basis

W) n America, 20% of the power requirements are met
through Wind- pawcr

Passage 7

1 of prospective jurors was asked by thq judge whecher
rya tem felt they had ever been treated unfairty by an officer
déelw, “Once gor ricket for running a stop sign,” Caroline
wpied "sven though | definitely came to a comiplere stop.”

resisted by

Dy pay the fine ¥ the judge questioned, "Yes"

Tyu thoughn you were innocenc” the judge went on, “why
& you contest it?”

Yo Honout” she replied, “chere are so many times { didn't
B ket for running a scop sign, thar | figured this evened
s 1t 2 iryle*
1 iy %ne of the following is comect?
W gﬂm was caught travelling without ticket in a local
¥ Carolne was cayght whic driving at 2 speed above the
Speed (it

Y

.: 1 m“**n was driving without @ driving licence

was fined for jumping the stop signal
the of
Mfmﬂ the following is correct?

™ Made 3 romplaint against the traffic inspector

Hgmﬁﬁﬂmdnm o '

m.:,mm'“tﬂmnhdhe

1 Cag, o SET 20 the jail for her crime
deﬁdedmmutm
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. ich one of the following is correct?
; wgfi';ard:le had been penalised many times before for
driving offences
(&) Caroline was sn offices of the law
[c) Caroline was 2 prospective juror
{d} Caroline was undergoing police braining

Passage 8 o |
Personally, | have been very fortunate and almast lnm:::db:e,
have received courtesy from my own Countrymen as ﬁu:
from the English. Even my goalers and the pohcemen,F "
place to place have been kind to me and much of ¢ E;
bitcerness of conflict and the sting of goal-life has been ron
down because of this human touch. It was not surprising that
My awn countrymen should treat me so for i had galnedha
measure of notoriety and popularity among them. Even for
Englishmen 1 was an individual and not merely one of ;_-h;:- mass
and | imagine the fact that | had received my educacion in
England, brought me nearer 1o them.

26. The phrase ‘almost inevitably' in this passage means
{a) without precedence
{b] uncxpectedly
(o} invariably
(d) comskierably

The writer is of the opinion that the bitterness of
conflict has been toned down because of

(a) the adversarys courteous behaviour
(b) the adversary's diplomatic behavious
(¢] his good behaviour
[d) the writer being close ta the Englishmen
28, The writer's own countrymen treated him with love
and regard because of
(a) @ human touch in thelr nature
{b] his good pelitical work
{9 his courage and generosity
(d) his widespread populanity among the masses

Passage 9
Englih is generally acknowledged to be the world's most

imporeant language. it is perhaps worth trying to understand
briefly e basis for that evahuation, The

re are after all thossands of
languages in the world and each seems to be uniquely important
ko those who speak it as their native language, the language they
acquired at-thieir mother's knee. But, there are some aobjective
standards (o judge their retative IMpoance.
One criterion is the number of speakers of the language. A
second is the extent to which a anguage is geopraphicatty
dispersed: in how many continents and countries is it used or
ies knowdedge necessary? A third i its functional load : how
extensive is the range of purposes for which it is used? In
particular, to whar extent is it the medium for highly valued
cultural manifestations such as science or licerature? A fourch s
the &conomic and political inflyence of the native speakers of
the language,

27.
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wanis to evaluate the importence of the

74 The author
English language because it is
e Britishers

() the fanguage of Ih
b in India

{b) studied as
() the most useful [BRGUaGE of the world

{d) used in many POUNIFES

30. The speakers of every language

(a) consider their language as the most impartant

{b) do not like othes languages

{c] treat all the languages alike

{d] want Lo learn english
The writer's evaluaton of the importance of the
English language is based on

{a} general notichs

{b) tinguistic assumptions

{c] subjective feefings

{d) objective criteria

Passage 10

The specure of upemployment is looming large on almos every
degree, This educarion has

uate with a general purpose
fife and chevefore, the young generation

very little refevance Lo
is getrng frustrated. If we look deeper into the problems of

exuemism  and  TerFofism, perhaps unemployment and
f the chief reasons for this

frustration of young people is one o
is the growing viclence in

malaise. The most dangerous trend
the hugnan heart. The Fror cask of every umversity is €o ensure
other does not become the new

that this violence ta each
human culture. The sociokogists have a lot o contribute by
analysing the thought-processes af the young persons and
evolving the remedial measures.
92 The young genesation is getting frusirated because
(al they have taker gencral purpose Uegrees
(o) they remain unem
fc} they are drawn (D ferrorism
{d) there is violence around them

3], Paonoous responsibility to comprehend the problems
of younyg geperation ties with
{a) the press and TV media
{b) owr political |caders
[c) the sociologlsts
(d] education administrators
34. The increase in violence in our sodety is
f2) a sign of revolutionary zeal
{b) the vesult of modem sysiem of educatin
(f the ume 1o surpass others in Kfe
() the result of frustration i life

e Passage 11

m:rict";a n;turai tendency in every animate. being to resent

ol mmmy‘;‘ue E&ck the growth of a p%nn it will Iry 10

D i e DX kade. i you enclose 3 worm or fish in a

o Fvey oo i it restlessly moving hither and chither o
milarly if you confine a bird or an animal in a

.

or a room, you wall find, it gets canstantly riyin ‘
through the cage or the room in a fic of escape, Qnﬁ,m breg
urge be free is mbor in all animate berngs "'l"h“" ]
suppressed only un its identification with the Situarint
urge (o be free s alsg a reason present Ik iNantmate Dbj,:"
i 15 lacent z2nd ulpmately gecs fulfilled 1t 15 Ffar this I'Ea:.o.:ih”
acter constandly changes its shape. The charge is, in 3 thuy
fulfilment of that usge. Yy, a
95 The natural tendency among the living beings ;
{a) submit 10 the Cirpunstances *h
fb) strive for freedom
fe} place restrictions in the way of others
fdh create blockades
ass jar first tries 1o
ib} break the jar
{d) ignore the change

cage

36. A wonm in a gl
fa) adjust itself
{c} moe out of it

37. An animal will sil quietly in a cage after it has
fa) caten well

{t) struggled enough
ic} identified itself with the changed circumstances
ld} given up hope of freedom

38 Matter constantly changes it shape because it
{a) i manimate
(b} also has an urge to be fres
[c) is moulded inta different shapes by men
id) has not soul

Passage 12

At what age shoukd schoo! begin? The answer must depend
r than upon its ofal o

upon the hame, its topography rathe
psychological character. A child who lives on a farm in the
y and profitably, spend his time

councryside  can, happil

wandering about, warching animats, reaping, thrashing exc. wntil
the time comes when iC is necessary [0 begin formal inserction.
Buc for the urban child whose parents live in a cramped
apartment. it is quite atherwise. For him, school is desirable s an

gSCADE INCQ freedom—freedom of movement, of moise
and freedom af Increase the size of dash companionship.

90, Topography means the science of
fa) drawing maps
(b) description of features of a place
c) shooting photograps
{d) description of topics

40, Formal instruction here implies -
fa) sehood diseipive

(b} rigi¢ code
(c) regular education at school

fd] disciplined conduct at school
41. The author believes that . o
need not have formal instructon

fa) a child in a counbyside
fb) an urban chilkd Jikes freedom of all kinds
b e T

id a countryside child is benefitted |
envirarment |
d} an urban child must begin formal instruction 13t i



¢ thinks that the problem as to whe
uld ge to scheol depends rather nnn t:lh:
ical character of home

muth"

a
i tw]d.tﬁ" snlﬁg
B Ps‘d:o character of home
e phical character of home
K w{ﬁ:l character of home

R
Passage 13
r mate [0 StOp guessing abour your feel;
o wanl you have €0 be prepared to reveal yoyrself Anﬂg;
ptmﬂﬂ::!" oveal yourself. you _have to know yourself. Ye,
e aty and honestly with your mace, ungil you have
MP honest with yourself first. Take time off o be
hatr time not simply 1o engage in Passive
f#% o but 0 €arfy On an active inner dialogue with
B perween the person you think you are and the inner
.""T[limnolﬁi re».rela:iun.}elf-analysis and re-evaluation,
igeii impassible otherwise. No architect n any field wili
N 10 make new plans without assessing the presenr
L 50 [0, each of us can and must make an
own assets or lizbilities,

gpoment of our
¢ You mate shall stop guessing about your feelings
wheft

&) you are honest [b) you knaw yourself

I he eeveals himself to you (d) you talk openly

U You can talk openly and honestly te your mate only
whet you

g seveal your emotions and feelings

B aie hanest with i

i do not engage yoursalf in passive meditation

it] are honest with yourself

E You should take Hme off o be alone s¢ that
k) you talk to yourself
M vou engage yourself in passive meditation
K your motives and feelings are clear
K] yu do not change vourseif
. No amciitect plans without assessing the present
shwtion because
b &ath of us.can and must make an assessment
M setf-anatysis and re-evaluation are necessary for him
k] change is impossible otherwise
H o ascsament of our own assets and fabilities is
Possibie

i
™ vord revelation: in the passage means

6 revaton (b) knowing the unknown
K ot (d] religious
e Passage 14

“ ' .
“wdrxak of Freedom of Press|, we usually mean it in a
o e That is, we mean freedom from direction
By, P from - .

the govesnment. n India, the press is free in
iqr"l"f]d-:.., ﬁf:' But the real restrictions on the press come
Moy rusers from whom it gers money and (ii) the
i " who owns the newspaper. So. even if an
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editor dares ro support a public pokicy like a ban on smoking in
Public places, he may not always be successful in pursuing this
because his paper may be owned by a company which
produces cigaretees. Such restricrions are often invisible unlike
government censorship. and are worse.

48.

The meaning of the phrase ‘Freedom of Press’ in the
passage is
fal the ability of the newspapers
goverament
{b) the abitity of the newspapers to criticise censorship
fe) the ability of the newspapers to express independent
views
{d] the ability of the newspapers 10 publish advertisements

In India, real restrictions on the press do not come
from
{al people
(b) the govermnment
ic) owmers of companies
id) th:: ubilic policies
Which of the following statemenis sums up the
writer's intention?
fa} The press must have freedom to print what they want
(b} Unseen factors control people's freedom
{c] Government should not control the freedom af the
press a5 that is dangerous
(@) Several factors contrgl the freedom of the press
indirectly and they are more dangerous

Passage 15

o criticise  the

There is a widely held but mistaken belief that meetings are for
solving problems and making decisions. For a start, the number
of people attending a meeting tends  be inversely
propertional to their collective abilicy to reach conclusions and
make decisions. And these are the least important elements.
Inscead, hours are spenc in side issues, playing elaborate games
with one another. _

b1.

52,

2.

Agcording to the- author, meetings
fa) are a waste of time
it) belp to sphve problems
() are a form of playing claborate games
(d) allow decisions to be made

The words that show that meny people bslieve
meectings are important arg

{a) widely held )

{5) collective ability

[c) number of pecple

{d} solving problems

The author belleves in the sanctity of holdin
meetmgs for .
(a) peactical vahue N
(bl transactional features
fc) collective apinion
{d) decision making



Artracted by
went to one of the

sauntered together
suddenly, caught me by th

public walk. | could perceive
g behind, that he was attempting (o
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Passage 16
My duties in the zoo included feeding the lions The popular
belief is that lions have sweetness of character, sagacity and
courage. But my experience with them shattered this myth.

fﬁ.iber]:, the male, often used to surprise me by sucldenly
jumping out against the bars wich a hair-raising cough of wrath.
like a startled stag | am sure he enjoyed

When | leapt in the air
his hastily snatching the biggest joint of meat, he would pinch

the meat belonging to the lioness and the cubs.
54. The traditional image of a lion according to the
passage is that
(a) he is intelligent, kind and handsome
(b) he is foolish, short-tempered and dangerous
(c) he is wise, gentle and brave
(d) he is noisy, hungry and wrathful

55. ‘The sentence, “I leapt in the air like a startled stag”
indicates that the wriler was
(a) extremely frightened [b) very surprised
(c) quite shocked (d) absolutely delighted

66. The lion in this passage is described as if
(a) he was an unusually cruel beast
[b) he had a personality like a human
(c) he was a beast with 2 sense of wrath
(d) he had a mind like a monster

Passage 17
the serenity of the evening a friend and | lately
public walks near the city. Here we
for sometime. Then my friend, stopping
e elbow and led me out of the
by the quickness of his pace and

by his frequently lookin
avoidl somebody who followed. We now eurned to the right
then to the left., but in vain. The person whom he attempted
to escape, gained upon us each moment. 5o that, at last we
finally stood still, resolving t© face what we could not avoid.

57. The author's friend took him away from the public
walk, as
(a) the public place was dirty, crowded and noisy
(b) it was impossible to meet their friend
{c) he wanted to avoid a person following them

(d) the public was looking strangely at them
ends quick pace and

8. The author concludes from his fri
his frequent lnoking back
(a) that he was running out of time
(b) that he was worried about reaching home early
[c) that he wanted to escape from a person following him
(d) that he was troubled inwardly

59. I-Ii[:;]h-lend caught the author by the elbow
(b) :::::“" the author from falling down
{c) as he il:al:hur ml_k::t in a position to walk on his own
5 panicked at the
” person he didn't like sudden appearance of 3
¥ he:had stepped on a slippery thing

N Passage 18
merican Indians believed that iri

in nature that made grass and t:::;ﬂp‘;:{:; !ﬂru: everywhere
wind to blow. Every bird and animal had a spigr.fv:lr_ and o8
some of this mystery power from nature and to se:.:u A ﬁhm-iﬁ
!ung protection of an individual spirit, every boy andl: e I'fe
in some tribes spent a night or a few days and nighrs, :IIEF'Ir Efﬂ
a solrary place, believed to be especially strm? it
5._1pem;_u:ural power. Usually the longest vigil was nfgfum
nights in the Plains and five in the Plateau, for these 2
mystic numbers. Fasting and thirsting, the child waiced F:':

voice to speak to him.

60. The ceremony of the solitary retreat was observed by
(a) every boy and every girl in all the tribes '
(b) every boy in every tribe and every girl in some tribes
(c) only every girl in some of the tribes
(d) every girl in all the trbes and every boy in some of the
tribes '
1. The purpose of the retreat was lo
{a) keep a vigil
(b) hear a voice
[c) observe a fast
[d) secure the aid of a spirit for
62. The way to perform the vigil was

la) to chant mystic numbers
(b} to go to the plains or the Plateaus

(c] to fast and wail alone
(d) to make it last as long a5 possible

Passage 19
An eleven-year boy walking hehind his parents and a pet dog
off England's highest cliffs, which rise to 230 metres at their
peak, blown off in a gale to a heighr of at least 170 metres. The

le drowned out the boy’s screams while his parents walked
on ahead. They realised what had happened only when the dog
barked furiously at a helicopter flying in the sky. The pilot of
the helicopter displayed exemplary presence of mind, and
picked up the boy from the cliff to the great relief of his
parents who found him alive and kicking. '

3. The parents did not hear the boy scream because
(a) they were far away

(b) of the sound of the gale
(c) of the drone of the helicopter

(d) of the barking of the dog

4. The gale struck the boy while
(a) jumping off the cliff
[b) playing with the dog
(c) looking at the helicopter
(d) walking behind his parents
ents discovered the mishap only when they
(a) saw the helicopter rescuing the boy
(b) heard the dog barking furiously

(¢} realised the furv of the gale
(d) noticed the destruction of plants and trees

oneself

he wns-

§5. The par
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Passage 20
. are parly a by-product of mumbar's
t.b-"""ll;r:fe was a ume when many men could get
1 A Tt:ut hose ntore cornfartable days ended as the
h he CONSEIVACM of marned men beng well
e B ;wanied home-made lunch. An Inchan loves his
1 a y‘ﬂlhﬂ. gl o anybody and feels that only hus wife can
o much = iy, quanuty he requies, thar restaurany
e (ME q i poorer qualicy and 15 served In meapre
Wiy pensve: ol PO &
bl 14
authar, the dabbawallahs
r“Wj:;cw""‘“gwme far the evercrowsing of M
ﬁ' " “wmm]r ar [he cvircrowding o umtia
fal ; fen create & lat of problems far the city
o moskhy {rom rural areas
"I [ car
I:;ﬂ came 1010 eastence as 3 consequence of Mymbar's
mmruwdlng
as more comfotable for the 1
g me Pa',‘;t W . pecple of
. \qunbai becaus
M | many of them were neh and could aord good foed
:;I hey could bring home-made food for lunch
ich many of themn could go home [0 lench
id) they could eat thew lunch outside

which of the following best describes the authors
;! Jmiude 10 the dabbawallahs?

al objective (b) enthysiastic
Ir] apprecalive [d) entwal
Passage 21

s which spend the summer 1n the higher reaches of
~arzins come down during the winter 1o the lower foachills
 zven the plams. This is very commen in Ind’a where the
mighcy Himatayas lie ciose 10 the Indo-Gangetic plain. Birds are
purctual 100 unless they are delayed by bad weather, We may
cenkre 2MEst [0 A day when we may expect our bird fiends
wretarn, carrying winter on therr backs, Some twrds make che
long journey 1 €asy SLages, SICRPINgG 10 rest on the way. Others
by great distances without pausing to rest and feed. Sorme fly
by day, some bath by day and by nighe, but most to them
ipeed on therr way through darkness after the sun has ser.

B During the winter, commonly birds in Indja
[a] move higher towards the mountain

b} come down to the feothills

lc) travel in the night

kl remain where they had been staying

M. Bids sometime ge! delayed in their migration because
bl they have to 1ake rest and feed
[5) they Iack the sense of time
of bad weather

) B) they tose ene sense of direction
© Mewly the birds make their long journey

) during the day time
3 sunrige

9 at midnigh
N the darkness

213

Comprehension

Passage 21
The real reason why 1 should not ke to be nothe bogk rade
for life 15 that while | was In i b lose my love of books A
bookseller has 1o cell Ties about books and that_ gives Turmn 2
distaste for them still worse is the fact, that he lies constantly
dusting them and hauling them 10 a!'u:l ira. There’ lwa?:i af e:.;r;
when | really loved books-loved the sight and smell an feel of
Them, | mean, ac keast if they were fifty of mﬂfth}":al o
Nothing pleased me quite so much as to buy a whole lo
them for a few rupess ar an auction.

72. The author lost his love of b«lcmksr
[ me
{a) by not reading books for a long U
(b) by being in the book trade far a long tmeE
{e) as he could not get good hooks 10 read .
(d) as he was prevented from owning and reading baoks

7. What is the most likely reason for a bookseller
develaping a distaste for books 3
(3] To sell books, he has to tell lies
(5] He has to constantly handie all kinds of bad books
{cl He has to be with books withaul reading them
id} He has to satisfy the whims of the customers

74. From the passage it is clear thal the author

[2) liked to read bocks while working in the bookshap
(b} liked the outward appearance of books, their sight and
smedl, more than their contents

{c] liked to buy a lot of books at auchions
Id} never liked bocks as he had lost kve for them

Passage 23

I am convinced thar school learning is unnatural and bad for

* human beings. In scheol, we sat on the Aoor and chorused our

lessons. The teachers were terrible. They would write
something on the board, ask us to take it down and go out o
gOsSIp Or 10 smoke beedies | was very naughy. | got punished
and thrashed very often. Bur, it did not stop me from mischief,
My family insisted chat | should artend school but did not
5cold me when 1 failed. | barely managed to pass each year. It
was the same story when | joined college. | scraped through my

BA examination. What a relief it was to know chac 1 nead never
£0 Into a classroom againt

5. From the passage whicth one of
statements appears to be true?
(a) The teacher used 10 punish the author everyday

4+1] The punishment given by the teachers heiped o
Improve the behaviour of the author

{c) The punishment did not stop the bay's mischief

(@) The punishment was so mild that the author enjoved it
T scraped through my BA examj '
the awthor pazsad thny BA u&mrrﬁ':;:ig?:n

(a) with grear difficulty

b} easily and with credits

ie) using unfair means

[d) only after ceverad attempts

the following

76. means that
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77.  Which one of the following statements teuly indicates
the author's opinion about the education system?
ta) The author is appreciative of it .
jb] He is tighly critical and sarcaslic about it

fc] He thinks that it is good bul the teachers_ are bad
{d} He thinks that it is rnperfect but can be improneed

Passage 24

As probably the least strenuous, safest physical acivity, walking
is the most acceprable exercise for the grearest number of
peaple. Walking ac a comfortable speed improves the efficiency
of the cardio-respiratory systemn by stimulaung the lungs and
heart. bur ac a more gradual race than meost other forms of
exercise. There is evidence that walking rmay actuaflly open up
marrowed areas in the coronary blood vessels, lessening chances
of a heart arcack, For the tense person who smokes 3 'killer'
combination-walking offers added help by decreasing the
abnormally high levels of carbon monacxide and nicotine in the
blood Walking may also increase the elastcity of the blood
vessels, decreasing the likefihood thar they will rupture under
pressure-one Cause of scrakes,

8. Walking is recommended because it
fal helps to reduce fat
fo} is inexpensive
(c) is mot very streauous
id] is the only way to digest food

79. 'The chances of a heart attack are
(a} decreased by walking
fb) completely wiped out by walking
{c) temparasily postponed by walking
(d) unrelated to walking

8. Stokes occur because of
(a) the elasticity of blood vessels
M) changes in bood pressure
{c) widening of anterits
() bursting of biood vessels

Passage 25

There are many ways of sending secret messages. An interesting
method was used by a Chinese General calied Pingyo. 2000
years ago. Pingyo's army was far from their homeland. Beeween
the soldiers and home, there were many enemies. Bur Pingyo
sent letters (o his king and the enemy could not read them. He
sent them like this:A scrong messenger was chosen from
among the soldiers. His hair was cut off and a letter was written
on h:: bald head. Then he was dressed as 2 poor Farmer and
mr‘ E:::'fﬂ; rumey lasted many weeks. During this time hig

many G Htﬂvered the message, The enemy stopped him

¢ Was searched but the lerter was nat found,

When he the ki e el
and the letter was rea dk;o”SéihEPillzc: his hair was cut off again

81, The meyse
Wa% drecsed ax & poor farmer as

19) farmers are tess paigyy
] the General famr:: tg:m
Wolld arouse jegs Suspicion

A2 The messengers hair was cut of becayg
[al a rmessage could be written only on a by
[b) it would make the long journey comfonag,
(c] the new hair would cover the message
{d) the bald hear would make him look lige 5 More

B3. This method of sending the message was COMMVeryey,

a5
il the enemy could be cheated easily

Ib] it was more economical
[c) the message was senl in persan
idl the message was not khown to the MESSEngey

Passage 26

while the lion and the Uger are the focus of g
conservation efforts due to their vastly reduced aumbers, “:
the leopard, among the big cats, that may now face “_:
greater threat from poachers and illegal witdlife traders The
danger was brought home lase year when sales inspecteys
siopped and searched a truck in Uttar Pradesh
scumbled upon packages of leopard skins numbereg ang
signed "Tsering”, the trade name of a major dealey, wh,
officers suspect, was planning to smuggle chem oue of Ik
via Nepal and Tibet. There were also claws and other
parcs. The leopard is threatenad by exacrly the same Predacor
as che ciger by tradicional medicine pracritioners in Ching,
Japan and other East Asian countries. Leopard pares can Masdy
be mistaken for a tiger's and are grestly valued by
apothecaries.

84. There is fresh reason to pay attention 1o the reduced
number of
la} cats ib) tigers  (c) leapards  [d) fioms

B5. The body parts of which anfmals have medidnal
value in tradificnal Chinese medicne?
(a) Tigers
[b) Leopards
{c) Lions
[dl All members of the cat famity

86. According to the passage, the dangerous groups that
pray on arg '
(a) sales-tamn inspectors and Tserings.
(b} smugglers and truckers
[c) iliegal hunters and traditional apéthecaries
(@) the police and the customs officials

27 .
Pioneering Indian-American actor Sabu, who produged ¢
1940 classic The Thigf of Baghdad, but rould not make ¥
sequel before his death in 1962, has had his dream come L
60 years later. All thanks to his daughter. Two years ago, S3u'
daughter Jasmine published Moor Shadow: The Adventures &
the Thief of Baghdad, a tale for adolescent readers in which s
resurrected Aby, The Thief of Baghdad, che character hef
had immorcalised, who this rime rescues the princess
kingdom of Basrah from the machinations of Khakd ?
heighbouring king.

hea




L

.

L L |

s dredf
b S e
K

the thief of Baghdad, Sabu wanted ()
of his daughter 3s an artress
on the life of Khated
£ ot 3L que to the Tnief of Baghdad
d P“’dm;um his job @5 3 producer
it
. i Abu emerges as
mcm-nanﬂ'nr
s i Jlain ib] a hrf'ntvolmt herg
r i P] mln:fmt Lover [d) an ideal king
Kl nas 'come U’ means
tor has acted in a film
tes has written 3 bock
hi ﬁ:ﬁ aritten 3 bﬂlﬂk
il t daughte? has continued the story of Aby

Passage 28

s of renewal, when new green can be seen
ﬁn;ﬁs and the lawns of parks. Spring flowers have
A " 2ot of scent and a rainbow of colours, Houses
MMT dust and housewives go about in a fAurry of
ﬁ*’.”..-.r oclens begin 10 disappear. the Ilight cottons begin
p{:: wock. La2y lizzrds came out of their winter sleep and
5 o heit job of flyhuncing,

¥

e spring spason is usually a
[ g time for regeneration (0] time to plant saplings
i) period of plenty (d) Festive time
" scortiag to the passage, when spring comes, it
ripgs With it
[ 2 ot of green colours
bl increased Tty
i peressive movement
I diseganised enthusiasm

£ Axoeding to the passage, the lazy lizards core out ta

fal hask in the Sun {o) catch flies
i hont for & mate {d} adore the spring time.
Passage 29

| ¥y don't § have a relephone? Nar because | pretend to be
| tornese an unusual, There are two chief reasons: because |

ey ke the telaphone and because | find | can still work
By, eai, breathe and sleep without it. Why don't | like the
"Becausa 1 think it is a pest and a time-waster. [t may
:"Wﬁﬁm suspense and anxiecy, as when you wait for
' Gl that doesn't corne or irritating delay as when
' tinging a number that is always engaged. As for
hﬂﬂl: 0: Public talephone baoth, that séems L0 me really
Wiy gor 00 N0 Use it unless you were in 2 hurry, you
B e Peaple wairing before you,
Mg | OMPATES the telephone with a pest
4 hﬁPfiil o us '
E harmfm 10 us
I gy mam'“’m"‘_::ttﬂtstmys our Spirit

Comprehension 515

According to the passage, waiting for an expected call
that does not come, makes you feel

[a) unnecessarily apprehensive

[b) the boredom of waiting

[¢) important and proud

ld) nervous and worried

Speaking in a public telephone booth is homible
because
(3} vou have to pay for it
(5} you have to talk in the presence of others
(c) you have to wait for your tum though you are i a humy
{d) it is often out of order

Passage 30

There are many types of protein molecules in the body and each
type is specific to its function, for example. proteins such as
keratin and collagen give stremgth and elasticity to hair, as well as
o skin and tendons haemoglobin and mycglobin are the
oxygen-binding proteins of the blood and che musdes
tespectively and ovalbumin, the principal protein of egg white is
responsible for seiting and foaming properties of eggs. A
particularly impostant group of proteins known as enzymes,
directs all the body cells chemical reactions, These reactions
provide the basis of every type of cell activity, including growth,
repair the production of energy and the excretion of waste
productions.

96. FProm the passage it is clear that there are several
types of proteins which
[3) can create problems in our body
) carry out specific tasks
(¢} are found in all organisms
fd) have interchangeable functions

97. Proteins are classified according to
{al the number of motecules
{b] their names
fc} their functions
fd) the part of the body they are found in

98. The function of the enzymes is to
[a) direct chemical reactions in body cells
fo) bind cygen In the blood
(¢) give strength ard elasticity to hair
(d) set and form properties of an egg.

Passage 31

My father and mother were the complements of each other.
My morther was fragile my father robust. Her face was
responsive, my father's impassive. My mother's face ripplas to
emotions as waters to the wind. My mother's was not
intellectual. Her natural propensity was intuitive, Her face
illustrazed che saying : appearances are deceptive, for they did
not show the immense strength of her moral convictions. No
ong could have inferred from it that she was capable of such
fanaticisrri as she showed over them.
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99. By saying that his
father the author sugg

fa) iike his father
(b) opposed to his father
(c) different from his father
(d) indifferent to his father
100. The words her face was responsive mean that
(a) her face clearly showed her feelings
{b) her face was very attractive

[c] her face was passive
(d) one had to look at her face when she spoke

osts that she was

101. The author’s mother held strong views based on
(a) refigious scriptures (b) legal provisions
[c) social customs {d) ethical judgements

Passage 32

While it is crue that there is no law that compels us to say

‘please’, there is a social practice much older and much more
sacred than any law which enjoins us to be civil. Are the first
requirement of civility is that we should acknowledge a service.
‘Please’ and ‘Thank you' are the small change with which we
pay our way as social being. They are the little courtesies by
which we keep the machine of life oiled and running sweetly.
They put our interaction upon the basis of a friendly
cooperation and easily give a take, instead of on the basis of
superiors dictating inferiors. It is a very vulgar mind that would
wish command where he can have the service for the asking
and have it with willingness and pgood feeling instead
resentment.

102. According to the author
(a) we should not say 'Please’ as it is a against the law
[b) we may or may not say 'Please’ according to our mood
[c) to say please in an outdated custom
([d) we must say 'Please’ as it is a civilized custom

103. The writer thinks that
(a) courtesies make life oily and stickly
{b) 't_hr lesser the courtesies, the more the frankness in our
ine
c) courtesies make life pleasant
(d) courtesies make life mechanical

mother was the complement of his

104. The writer is of the opinion that

{a) only subordinales should use "Please’ ang Thank «

when talking to superiors

[b) friends should use 'Please’ and Thank you' only

themselves T

(] 'Please’ and Thank you' should be used by eve u' !

(d) ‘Please’ should be used by inferiors and Thank ym
superiors ;

Passage 33

It seems to me that we cannot learn too early in life to re

the privacy of the individual. When my daughter began tg i

her memoirs, ar the age of four, | decided that she must hayas

place to keep them, if only a section of a bureau drawer or a¢i
happened, a box with a key. | remembered. the agonies of m
own childhood when my sister discovered | was writing poem
and began to tease me by chanting them in public. | tria
desperately to hide the notebook of poems. No place in ¢f
house seemed secure. For a while, | carried it around in the righ
leg of my trousers until the elastic broke and the book fell oy :
the feet of enemy.

105. The author arranged a safe place to keep the memoirs
written by her daughter because he
(a) thought that the memoirs would be lost otherwise
[b) recognised the need for respecting the privacy of he
daughter
(c) decided that the memoirs should not be read
strangers ' -yt
(d) knew that the memoirs' g8iild fetch a lot of money

106. The author’s sister caused great agony to her by
(a) openly reciting the poems written by the author
(b) discovering that the author was in the habit of writing

poems '
[c) teasing her for the mistakes found in the poems

(d) warning the author against writing any more poems.
107, :

No place in the house seemed secure enough to keep
the notebook of poems; so the author
(a) kept it in a bureau drawer
(b) kept it in a box with a key
(¢) carried it inside the trousers

(d) threw it at the feet of the enemy
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passage 1

5 preity child, but she was thin and
cod Mf,e,b:f.;inefi with weepng She was dressed in
’dhef dress and she shivered all the time. Here
_;#” oin €000 were blue marks from the beatings that
v -en her, Her naked legs were red and reugh.
het vOice trermbled. Everything abour the child,
}#ﬂ"ﬂmmﬁw,{ her speech, her silence, every small
Fiﬁ dhowed a terrible fear. She was so afraid that
;ﬂ"ﬂ - s wet through, she dared not go near the fira

0l bur sat shivering in a comer of the room.

= could mot be A pretty child because
f S wes PRl and emaciated
1l she was weeping
K} e WS grantily dnessed
o] she was rembling with fear

 voice trembled beczuse

) she was feeling cold

(1] sae was frightened

] there was w0 fire near her

o] e was wearing a thin, cotton dress

1 Cetie's terrible fear is conveyed most vividly by
the description: of
[ her constant chivering
K her tear-stained £yes
[ ber trembling voice
4} bes irability to go near the fire

| T canse of Cozette’s fear is explained by
b ber puke appearance
B her torn drass
I} the e marks on her body
Hhﬂw

Pass 2
Whsons o rug ad -

s diction thould also be concerned with
IH 5.5"::"_“1‘ f people wha are not addicts. Their homes
R 14 o1 Msecure because our narcotics laws drive such
Vo by o e The drug addiet is almost never dangerous
hﬂmk“t?:tr the influence of drugs. What makes him
I*‘! Drigs are desperate need for maney to buy the next
&;“g ivailable only in an illegal black market. The
d oven | & ard this is what drives rhe addicr to sceal,

in this section, you have some short passages. Each passag
IQ'NM,,;ad o passage ond answer the guestions based on it. You are required to seiect
irsh

Exercise Il

based on
Hiowed by questions
e is fo your onswers bosed on the

5, According to the author. dis_cussions on drug addiction
are generaly concemned with _

(a) addicts (b) non-addicts

e} criminals (d) black marketers

6. Addicis lake to criminal ac:s beu':use .
{a) drugs make them lose self-controd. .
it) Ih:ghabi't of robbing and stealing IS harcL to s'I;:n!alr:
{¢} they need large sums of money to buy drug
{d) law is powerless against them

7. The author teems Lo criticize the
[a} being tao [enient ’
{b) bring too complcated
[e] being incffective
(6] driving addicls to <rime

B. The word ‘stupendous’ in the passage means

parcotics laws for

le) wery high (b) foolish
[¢] shocking [d) illegal
9. With reference to the passage, consider the following
statements

1. Addiction to drugs is a criminal act.
2. Drug addicts cannot be rehabilitated.
Which of the statemants given above is/are correct?

(aj 1 anly - 6] 2 only
(cl Both | and 2 [d) Neither 1 nor 2
Passage 3 -

Even in the most primirive societies the grear majority of
pecple satisfy a large part of their material needs by
exchanging goods and services. Very few people indeed can
make for chemselves every-hing they need-—all their food,
their clothes, cheir housing, their tools. Ever since men started
living in communibes, they have been satisfying their needs
by means of specialization and exchange; increasingly #ach
individual has concentrated on what he can do best and has
produced more of the sperial goods or services in which he
has concenrrated, than he can consume himself. The surpius,
he has exchanged with other members of the communicy,

acquiring, in exchange the things he needs that athers have
praduced.

10. Very tew people can satisty their naeds taday by
[a) providing things for themsetves
1] exchangmg goods and s&rvices
] concentrativg on what they can do best
[d! individual specialization X
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11.  Exchange of goods becomes possible only when
fa) there is no spaciatization
(h) the poods dre produced in surplus
fcl primitive societies become modean
{d) individuals make things for themsehues
t2. Specialization and exchange began when men started
(a) beg industries
fb] concentrating on ther work
[c) producing things for individual use
(d) living in communities

13. Exchanga of goods
necessary because
fa) man is a social animat
{b) reciprocity & the law of life
{c) trade and rommerce are means of progress
(d) we cannot produce eventhing we need ourselves

Passage 4

| came home from one vacation (o find that my brother Ron
had brought » dog while | was away. A g burly, choleric dog,
he always acted as if he thought | wasn't one of the family.
There was a slight advantage in being one of the family. Far he
didn’c bite the family as often as he bit scrangers. Mother used
to send a box of candy every Chriscmas to the people he bit.
The lisc finally conrained forty or mare names. Nobody could
understand why we didn'c get rid of the dog?

14 Which of the following descriptions fits the dog?
{al The dog was tiny angd dalicate
(b) The dog was sturdy and short- tempered
(c) The dog was huge and copl
{d) The dog was small and sweet-tempered

15, The dog did not consider the writer as one of the family.
What do you think was the consequence of this?
(sl The dog barked 3t him all the time
{b) The dog drove him out of his pwn house
ic) The dop behaved with him in an unfriendly way
(@) The dog bit him more than he bit others in the family

16. The Christmas list contained more than forty names.
Whal does this sugeest?
{a) The waiter's mather had a fot of friends
b) The writers family celebrated Christmas wel
e The writer's dog had bitten at least forty people
{d) The writer’s mother sant them candy bokes

Passage 5

A liethe girl was lsarning a history lesson with her governess. All
the morning she had beer reading it over and hearing i
explained by her governess, buc no good came of either the
reading or the teaching. The governess went over the lesson
several times, explained the meaning and for the last time,
asked her pupil to read it over. Afer due rime had been given,
the girl was examined as 1o her knowledge of the lesson: bur
not 4 single answer could she give correctly. The governess |ost
patence with her, and threatened o punish her unless she
could stale where a cercain creaty was signed. -

and services becomes

17.  Accerding to the passage, the Ly, g
and heard it explained all the WWQ‘
(a] the gid did ot like her governes
(6] the govermess could not explain it |
[c) the girl could ot understand it " gy
{d) the girl read the lesson only ones

18.  With reference to the passage, sope;
statemants CoRsidar o,
1. The govermness taught the sap,
times. lesoog
2. The govemness wanted to comples,

work guickly. har
Which of the statements given shevg

2] 1 only (6 2 oy
{¢] Bath 1 ard 2 (d) Neither 1 " 3

9. After reading the whole passage
following impressions do you think mnﬁdl o

inability of the girl to Answer questiong g " &
{a) The dullness of the gidl Comaiy
(b} The incompetence of the governes:
ic) The difficulty of the Bngusge
[d) The fack of time

20. Which of the following comectly
meaning of ‘lost paﬁenmgwith bery Ty
(a) The inability of the govemess to endue Furtey g,
qifs faikure to ansveer
[b) .The govermess lost her enthusiasm to teack the gi
{t] The governess felt that the girl canngt be Laughe by
[ess00T
1d} The governess felt that she was not 0000 hough g
teach the gl

Passage 6

Many doctors flatly sefused to believe Jenner when &
announced that he had found a preventive against sma
They declared vaccination to be a dangerous practice Bu: te
dread of smallpox was in everybody's heart, and people foces
Lo Jeniner (o be vaccinared, The Latin word for cow is ‘i
is the root from which the word vaccination was formed Som
of the 'vacca' used by Jenner were not pure and some hars
were done; but when supplies of pure vatcine were ek
che practice of vaccinating spread alt over England and fom
England o other councries, We hardly hear of ourbresk o
smallpox now.

21. The passage describes
(@ how smalipox may be treated
(b) how vaccines were menufacturcd in England
(c] the dangers of varcination especially for chidres
{d] the gradual acceptance of vacgiation as 2
against smalpox

2. Vaccination somnetimes proved harmful becaust
{a) vaccination was a dangerous pract ik
ib) some of the vacdnes used were of 8 poot

standard oy
(¢) there are physiological differences between
himan beings
(d) vaccination s given at a very early 298

i5/ary

g,
ey
g

becay N |

lclu"l .
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4 to get themselves vaccinated becguse
o octors SuwurFl.‘d Jenner's claims
5 gl “-,an‘l'n{d the terrible disease drove them to take the risk
; ‘ :
b i?.m.‘iﬂi fion : .

. of pure uamnF had now become available
d 51:; siee of vatcinating had spread all ower the wortld
d

.. was intended by Jenner to
W% suffering fram smallpox
Iy the death of smalipox victims

. a defence against smalipox germs
H:’:;HTW fram spreading the disease

i refgrence 10 the passage, consider the [ollowing
§ Mfdudm did not believe that Jennmer was a
1

ﬂﬂ-m no outbreaks of smallpox nowadays.
?' .+ of the statements given above is/are comect?

(d Both & and 2 idy Meither 1 nor 2
o 0111

Passage 7

and Hhstory are ewin sisters, inseparable. n the days
" OW grandfathers, and for many generations before
- e basis of education was the Greek and Roman ¢lassics
e educated, and the Bible for all. In the classical authors
44 e Biole, Hiscary and Licerature were closely incervolved,
a4 6 that circumstance which made the old form of
sonon o simudating o the thought and magination of
-caxeson. To read the classical authars and to read che
wewss 0o read ar ance the History and the Licerature of the
et getest races of the andient world. No doubt the classics
e bble were read in a manner we now consider
ol bt they were read according 10 the best tenets of
wime and formed a great humanistic educarian. Today the
ufly both of the classics and of the Bible has dwindled to
mlemportions, What has caken their place? To some extenc
taoum has been filed by a more correct knowledge of
oy ad 3 wider range of licerature. But | fear that the
e part of it bas been filled up with rubbish,

& Wit of the dollowing statements best reflects the
m lone of the passage?

k) Utratwre anef History are mutually exclusive

B Uteature and Mistory are complementary 10 ¢ach other

Sudy of Lilerature s meaninghkss without any

“M af History

Werature . -ang History arc  inseparably
" e Wgether in the classics and the Bibde
i ") hﬂ
ey ;

linked

of the above passage says that in the past

o education for all people, irrespective of

ﬂ“’* ol Romhan classics

{q: '::lm noitedge of history
" 13008, of fiterature
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28,  The author of the aboye passaga says {hat ;
. the cl
and the Bible were read by his arcesturs classien

[3) methedically and with discreuon
{o] in a manner that Wwosdened the view of nife
[c] with great emphasis on their literary valyes

(d) without cvitical discrimination but in the flht af thex
humanistic culture

According to the author of the above passage, the otd

form ol education, based on the study of the classics
and ¢l the Bible, has

(ah suceeeded in creating interest in history

Ibl laid the basis of human divilization

¢} had 3 gradual decline in our time

[d) been rejuvensled in the context of modern educalion

The author of the above passage fears that the greater
part of the vacuum created by lack of interest in the
classics and the Bible has been {illed up by

(3] a richer sense of history {6} a wider range of literature
[¢] worthless ideas (dl a new phitosaphy of life

Passage 8

During his early days as editor of the popular magazine,

Saturday Evening Post, George Lorimer did much of the
reading of unsolicited stories. This meant endless hours aof
sitang at the desk, pouring over big stacks of manusenpts,
uying to decide which were worthy of publication and which
were no Lonmer became an expert at making these decrsions.

One day he received a hully besrer from a would-be writer who
had a complaint. “Lasc week you rejected my story.” she wrote,
‘I am posinve you did noc read it becawse, s a test, | pasted
together pages 14, 15 and 16. The manuscript came back with
the pages <till pasted. There is no question in my mind but thag
you are 2 sham and a disgrace 1o your profession.”

Lonimer's reply was succinct : “Madam, at breakfast when | crack
open an egg, | don't have 1o ear the whole epg to knaw it is bad”

31. Lorimer did much reading of the stories
{a) if they were the solicited ones
(bl when ey appeared to be pud
[¢) when they were from women writers
(d) when they came unsolicited

32, Lorimer was a good editor becanse
[a} his reply to the angry writer was polite «
(b} he apologized for rejecting the story without reading it
{cl he could find the worth of a story with a tittle effort
id) he was prompt in writing letters

The lady wrote a huffy letter because
(a) her story was rejected
fb) brer story was rejected unread
fe) hee story was rejected aithough it was good
(d) Lorimer was bissed in his decision
3. Lorimer's reply was
fa) irrelevant
e} witty

3.

o) rude
Id} funny
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75 Lorimer read the stories
(4] because he enjoyed reading them
(b) in order 10 publisit them
{c) only to find fault with them
(d} in oeder To review them
Passage 9

As the torioise tucks its feet and head inside the shel and will

not come out even though you may break the shell into pleces.

even so the character of the man who has concrol over his
maotives and organs, is unchangeably established. He cnnt_mls
hic own inner forces, and nathing can draw chem out against
his will. By this continuaus reflex of good thoughts and

impressions moving aver the surface of the mind, the tendency

10 do good becomes strong, and  in consequence, we are able

e concrol che Indrivas or sense organs.

35, The author uses the phrase ‘inner forces’ In this
passage. Which of the following would be its most
correct meaning in the context?

fa] Fmotianal disturbances in man
[b) Strength of the internal crgans
{c) Forces produted by sense organs
id) Reflection of the intellect

37. Which of the following statements would illusirate the

metaphor in the passage?
fe) Man is slow-moving and slow-witted
(b) A man of character refuses to be influenced by outside
compuisions against his will
{c) Man con®nes himself to a life of isolation
{d) Man cannot have a qood character or stiong wil

38  Which of the followlng statements may be assumed to
raflect the central theme of the passage?
{a) Good thoughts lead to the control of the sense argans
() Control of the serse organs teads 10 good thoughls

[¢) Character, though estabfished. may be disirubed by

outside forces
(d) Mo man can achieve success i destroying the inner

forces

30, Which of the following statements would be most
coffect in explaining the metaphorical meaning of
'break the shell into pieces'?

(a} Destruction of the human body

fb} Breaking of the physical environment of man
[c] Attempt to destroy man's chasacter

{d) Inflcting physical and mental agony on man

40. The pamsage cousists of two long sentences and a
short one. The purpose of this style could be to
sutprest that

fa) it is impossible for man to attai ot
; in perfection of
{b) the sitanment of perfect character i the result of 3
long process of mental discipfine
{c) the whole life pracess is clumsy
(d} there # a tor of confusion in our understanding of
sense organg, character, pic

Passage 10

Orne of the most senous problems fﬂ“ffOnUng o
of a fast-growing population. In face, i is ac rhe Foot of “’H
problems. Az the moment thgnks e Planmng_ - M%

uce food and cloth sufficient far our Peopie g
cone excess. But if the papulation continues o E'oww %:
it will not be long pefore the surplus twms intg 5 bar:t%"t
and even a d

eficit. The position in regard o z nu%
even now far from sacisfactory n spite of oyr eﬁ%‘
41.

“It is at the rool of many other problems* kg
(a) it is found alang with many other by
{b) it is caused by many other problems
[c] it gives e 10 many other problems
(df it is buried under mrany other problems

47 The present satisfaclory position in regard g 4,
cloth is due to "
fa) the fact that the popUlation has been tortroles
{b) our goad luck
{c) good rainfall
{d) our economic planning
43 [f the population of India continues to increass p g
rate, the situation in regard to food and don
la) is likely to remain the same
fb) & likely to become less satisfactory C
ic) is likely to imprave )
{d] is tikely to vary up and down
44  The situation in respect of accormodation
{al is less than satisfactory
it is guite satisfactory
fc] #s improving rapidly
[d) i the result of total neglect
45. At present Indians have
{a) more provision for cloth than accommodation
ib) more provision for accommodation than cio
{¢] abundance of cleth and accommodation
(d) scarcity of cioth and accommodation

DS 2011-I i
Passage 11 "~ |
One day, we were becalmed among 2 group of smal e
most of which appeared to be uninhabiced, As so00 ™
in want of fresh water, the captain sent the boat ashtl"
bring off a cask ar two, But, we were mistaken in th g
were no natives, for scarcely had we drawn ne¥ 'I':nﬂd
when 2 band of savages rushed out of the bush and nl
on the beach, brandishing their clubs and 0
threatening manner.

46. The captain sept the boat to the shore 1
(8} kok for inhabitants '
{b] find heip
ket find a place to settle these
(d) fetch some water




_“ﬂl

prandished their spears in order 10

s the crew (O the island

i8 o the £Tew o leave

d i..-.uhlhimts of the slands wera

(b) pirates

{d} primitva tribes

Passage 12

wandela was appointed national volunteer-in-chief of
oy campaign; his deputy was Maulvi Cachalia whose
n“oﬁ;dbﬂﬂ one of the bravest resisters alongside Gandh in
et raured the Cape, Nartal and the Trangvaal, VISiting
T Mﬂ‘_n'dme rrwnships, explaining the plans, somertimes talking
Tﬁs‘: (he night. His task was to wnspire people with
{

[d' .ﬂu!l Pﬂ:'plt

o in their ability (o owvercome oppressian through a
ot g+

iokent challenge o the gavernment. As always, there
problerms of being black in small rowns, no hotels o
by Adficants, ot were tf:.ere relepivone lines in tewnship
w8 "opic meant walking miles to the location and knocking
% looking door. Sometimes they were welcomed by an

) #1237 i srrangen, sometimes rebuffed by the cautious,
1y o

g The purpase of Mandela's talks was {0 help people
) f5) court aresls |

(] oppose oppression

(@) join him in hi5 CAMPAIQA tours

i) gat small town facilities

g It is clear from the passage that tha black Africans
Ja) empoyed small town facilities

i were Relped by Gandhl in their freedom struggle

k] hsd an unfavourable government

[d) Eked wisiting homes in townships

Passage 13

{ne day an army group won a land bartle against the enemy.

The comrmander feared that the emerny's powsrful air force
mgh bomB his camp that night in revenge S0 he ordered all
Xhis ro be put out at 700 pm. At midnight the commander
wnt round inspacting the camp. Seeing a light in a tent, he
imered it His son, an officer under him, was writing a letcer.

g W= He

o, e T

The son explained that he was writing to his mother abour his
beve deeds in baccle. The cornmander teld his sen to add to

e latter that by che time his mother received the lecer he
wukd have been shot, dead for indiscipline.

i. The commander- we t round tha camp at midnight
because he - " P
) was to0 tired from the day's battle to go o skep
wished to .check if his soldiers had obeyed his arder
Was tno worried sbout the next day's batte
) wihed o check iF enemies had entered his camp

The “Ommandar entered his son’s tant because he
ﬁwmmand talk to his son
e spected that enemies had entered his tent
mmttd 1o send 2 message to his wife
10 punish any soldier whe disobeyed his order
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03 The zop was writing a letter because he '
la] wanted to writ¢ to his mother about ms father's brave

in battle _
{o) dl;uﬂjds Illr:; matier so much 1hat he had 10 write © her

his own deeds
l¢) was eager to tell hrs mother about
(d} did nug:: care for orders, since s father was the
commander
Passage 14

The heat-wave deepened during the following few days while
laci and 1 lazed ah-opﬁt in the house and yards weanng ragggld
shirts and discarded garments, because the more presentabie
anes were being packed by mother. She was abviously nﬂ;
srrong enough 1o cycle down o Hampshire, where farher an
Jack had been one weekend, to see and rent a cottage in Ropley,
near Alresford. From this prospective journey lack had returned
with half a dozen photographs taken with a plawe-camera which
he had made for himself, the aperture being a pinhole, This was
only one of his many ingenious artefacts. ) had studied the
pictures, which included a church that leaned backwards, in the
hope of finding thac perpetually teasing certainty which we look
for when about o rake some adventurous step nto the
unknown, But Ropley remained urnreal.

S4. During the hot summer days the auther and Jack
fa) were 1aking adwenturus steps into the unknown
(b} went visiting several churches in Ropley
le] were busy repairing a camera
[d] were passing their time in idleness
They were plonning
3 1o move out to Ropley
(B) a vrekking expedition ta Alresford
lc} to do some photography
(0] to make some artsfacts

The author and Jack were wearing ragged shirts and
discarded garments because

fa] they were very poor
(b} it was summer

[c] ali their good clothes were already packed
(d) they were lazing about

97. The plate camera
{8) was the only artefact made by father and Jack
{b) was the only artefact Jack had made for himself
lc) was only one of Jack's many such artefacts
(8) was borrowed by Jack from his friend for taking haif
dozen photographs
Father and Jack had been to Ropley one we end

(al to take photographs of the church that leaned b awargs
[b) because Ropley was unreal

fc) to take some adventurous step into the unknown
[d} to see and rent a cottage there

Passage 15
One day 2 tea contractar, Mr Sharma was warking on ar estate
with his wife and daughter, He noticed a light movem. : on
the gdge of the jungls, so he stopped to warch faram  enc.
To his astonishment a large tigress appeared and came . ards
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Mr Sharma. The tea contractor was a very brave man. H.? told
his wife and daughter to run mward; a nearby road, while he
stepped to fight the tigress with a knife. ‘

The tigress sprang at Mr Sharma and knocked him down, but
he managed to wound it with his knife. As a r:esul:. the cigress
and Mr Sharma knocked each other unconscious. Luckily for
Mr. Sharma, a friend heard the noise of the fight and came to
investigate. He found Mr Sharma and carried him to the road.
Then, he stopped a car and sent the injured man to a hospital,

where he eventually recovered.

The tigress disappeared for a few days but was later hunted
down and shot by a game ranger. The game ranger discovered
that the tigress had injured her paw in a wire trap and had
been unable to hunt wild animals in its normal manner.

59. When did Mr Sharma’s friend go to see, what was
wrong?
(a) When he saw the tigress attacking his friend
(b) Just before the tigress was knocked down
(¢) When the friend was knocked down
(d) When he heard something unusual

0. When Mr Sharma saw the tigress, he was
(a) surprised (b) afraid (c) nervous  (d) angry

§1. Mr Sharma stayed on to fight the tigress for
(a) he wanted to try to protect his wife and daughter
(b) he was a strong man who loved fighting
(¢) he couldn't run as quickly as his wife
(d) the tigress caught him before he could run

CDS 2010-1

Passage 16
The sky was already full of rusting wings. But when Jean stepped
into the still lusterless water, he seemed to be swimming in an
indeterminate darkness until he saw the streaks of red and gold
over the horizon. Then be hé suddenly swam back to land and
clambered up the winding path to his house. After a great deal
of panting he reached 2 little gate, pushed it open and climbed a
stairway. The house above the world had its huge bay-windows
through which one could see the horizon from one edge to the
other. Here, no one complained of exhaustion. Everyone had his
joy to conguer, everyday.
2. Which of the following is/are indicated by the
description in the passage?
Time before sunrise 2. Time after sunset
.« Clouds 4, Birds
Lelect the correct answer using the codes given below
le)2and 3 () 20only (2, 3and 4 (d) 1 and 4
B3. What do the words ° ¢
1. Jean was ‘oo weagl-:w:::t iﬁ of panting’ imply?
2. Jean's house was on a hill,
3. Je w00 s o valk after svimming
"-;hid-.u = mf-;ﬂzz :::: mt: far away from the shore,
@ 1and 2 [5) 2 ents given above is/are correct?
only ) 2,3and 4 (d) 1and 4

CDS 2010-1

Passage 17
Punctually at midday he opened his bag and spread out hi
professional equipment, which consisted of a dozen cowrj
shells, a square piece of cloth with obscure mystic charts on i, ;
note book, and a bundle of Palmyra writing. His forehead was
resplendent with sacred ash and vermilion, and his eyes sparkleg
with a sharp abrormal gleam which was really an outcome of ;
continual searching look for customers, but which his simple
clients took to be a prophetic light and felt comforted. The
power of his eyes was considerably enhanced by their positior
placed as they were between the painted forehead and the dark
whiskers which streamed down his cheeks : even a half-wit's eyes
would sparkle in such a setting. To crown the effect he wound ;
saffron-coloured turban around his head. This colour sche
never failed. People were attracted to him as bees are attrz

to cosmos or dahlia stalks.

64. From the description of this passage one can mak
out the person to be a :
(a) snake charmer
(b) footpath vendor
(c) astrologer
(d) priest . .
B5. The eyes of the person described sparkled because
(a) he was sitting under warefare midday Sun
(b) he was always looking for possible clients
() his forehead was bright with ash and vermilion
{d) he was full of joy

B6. The person dpened his bag
(a) to search for something he needed
(b) to indicate the start of his work
(c) to keep his professional equipment
(d) to take out things for display

67. The tone of the description is

(a) sad (b) neutral
(¢} ironic (d) wfﬂgﬁthttic
CDS 2010-1 , 2
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Passage 18 . ;

"Punctuality’ said Louis XIV,'is the politeness of Kings'. It is the
mark .GE a gentleman, and ‘the necessity of men in businessi
Washingron once took his secretary to task for being late. e i
secretary laid the blame upon his watch. Washington reto ed i
Then sir, either you must get a new watch or | must get a né v i
secretary”, Much of our success in life depends upon our being '
punctual in our undertakings and appointments. Hence the
necessity of steadily cultivating this virtue in our daily life.

68. Washjnlgton wanted abl
(a) to get a new watch o
(b) to get a mew secretary e

(c) his secretary to get a new watch .
(d) his secretary to be punctual .o
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jty is a virtue
@ PG wich is agpreciated by kings
) which 18 difficult t0 cullivate
() which B necessary for suceess i bfy
il which can make daily life pleasant

2010-1
Cos Passage 19

it i5 as yer only through fancasy chat
:d::lydewuamn of l:|;E scholarly ang Sciendﬁ:vgi;ai;ix
ﬁiﬂ mean © mnk_lrr;i rom histery we can larn what their
has mqanT. " sheer power of discipiined thoughe is
Win p{ﬂlﬂjya the great intellectual and technological
weited which the human race has made. The ability of the
,Wﬂf disciptined mind €0 direct chis power effectively u
mih & for which he has not specifically trained is prmedp{t;n}v
Fgﬂeﬁ“ wj.:hr.'mtt""“,’“be_f' The real evidence for the value of
P #J' edi ucation lies in history and in the biographies of men
ol mec the uahld criteria of greatness. These support
mingly the claim of liberal education thar ir can equip 2
Mwﬂm’feh‘ ﬁ;ndamf"f"’-al powers of decision and action, applicable
T only 10 boy-girl veladonship, to tinkering hobbies, or to
g the family dentist. bur o all the grear and varied
oot of human life _. not lease, those thar are unforeseen,

Liberal education enables a person to

(s) read with more discernment than others

t) apply general principles to resoive issues

[d) gain prestige

{d] devedop @ chearer understanding of histary than othears
. In this passage, the author sttesses the importance of

fz) egucation for living

R techaclogical advances

fc] inoreasad iryl’:qtst in the study of history

(d) satisfying the desire for security

72 @ thi passage, the expression ‘specifically trained’
refars to
[3} characteristically traincd [b) particularty trained
ic} peodigrly brained {d} ostensibly trained

7a According to the author, ‘the greaf-‘and vared
concemns of human life’ are about
{a) fundamental rights (b) challenges facing mankind
(] tinkering hobbics (d) hberal education

DS 2010-1
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\ . Passage 20
Tends < ys we are amused by professionals why Jisten o your
o o 8ng when you can hear che great singers of the
on the gramophone or the radio? Why read even 2
hotthall v if you can see one at the cinema, and why play
by tryi with players who are not very good whert yous can g,
AN OF car, 1o ses some of the best players in your Country
w840 importane match; o, if you have a television set, just
Touble o ) 3t home and watch the samé without the

Boing outside?
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T4 The primary crilicism of the author about his
contemporares is ihai  skied
fa) they arc unprofessional and nscle _
jb} they want 1o enjoy 3l the g:ud t:;nfnst :tfs life
ir tirne with &
ich they waste all their ti s

(d) they have a lazy and mecnan
amusements .
75 The impression you get about the auﬂmr js that he Is
[3) » oynic {b] an nh_:l timer
[d a reformer {d} a social ¢ritic
CDS 2010-1

Passage 21 o

A male Jackdaw's courcship behaviour islasl‘::lonmh‘lnlfl;,r [r;:onl':zll';
' sra consciously serained and his PY

rearec head andt neck a a srare of self-display.

reared head and neck are permarently in '
He provokes the other Jackdaws continually if the femate

Jackdaw is locking on and he purposefully becomes embroiled
ity conflices with otharwise deeply respec _ p
all, he seeks to impress his loved onée with the possession of 2
potential nesting sice, from which he drives all other Jackdaws,
irrespective of their rank.
76. A ‘courtship behaviour’ may _
(a) the behaviour of a Jackdaw who shows off his fl:athlcrs
(b} the behaviour of  male bird ko aliract @ female bird
(c) the behaviour by which a male bird displays its beauly
to the female bird
(d) the behaviour of any male o win a female of the same
SPELies ;
77. Wnich uf the phrases best helps to bri g out the
ise meaning of ‘consciously strained'?
{a) Proudly reared and exhibited
{b) Permanently in a state of displiry
{c} Purposefuliy put in a state of display
{d] Possessian of nesting site

78, The most important ‘mick’ of the Jackdaw to win his
female is
() digplaying his head and neck
fo} to be like a human being
{c) to become embroiled with other birds
{d] to possess & place for buikding a nest
79. The Jackdaw Hights with other Jackdaws because
[a) he does not respect the senior birds
(b} he wants 1o fght with his rivals

ic} he does not fike to be challenged
d) ke wants to show off

80. Which of the following statements best describes the
central thermme of the passage?
tal The courtship behaviour of birds
ib) The similasities between the courtship behavicur of birds
and men
iz] The as!unishing facts about the Jackdaw's love life
i8] The scientific study of the Jackdaw's life

bast be described as
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Passage 22

er peace know that only egual trust shown o

ad not just to 2 few of them, can
d:::nEr' ér::t::unds rhjat wear l:l;:m -"'F;ifl ?::Ii ;ﬂ
it i i renliare che members of a n
:h';&:ﬁi h":::rc:in:'nl}ltted inhuman acts. Essential also 1s
paundiess concemn for 50 many men and women who today, as
exiles or immigrants, live on fo_reign sl IF every home was
open to somebody of foreign orgin, the racial problem would
be pardally sclved.
1. For the reconciliation and unity it is essential
{a) to have mo discrimingtion in the trust shown to the
people of the carth
{b} to have young seekers after peace
(c} to have confidence i at least a few of the peaple
{d) to punish the leaders who committed inhisman sins

87  “fo make the members of a nation responsible for the

inhuman acts of their leaders is
fa] umimportant {») understandable
(e] unjust (d) undesirable

83, Boundless concern should be shown to
(a] one's Ownh country men alone
(b) the peaple belonging to cur fricndly Rations only
fc) the foreigners who just wisit our country
fd} ail the exiles living away from their native lands

f4. The theme of the passage is
(a} rigid mationalism alane can help peaceful co-existence
{n) trusiing 21 the peaple of the carth may lead to serious

Young seekers aft

all the peoples -.j:f
lead ro the healing

[¢} being caubious of others is 3 musst 1o lwe in peace
{d) concern for everyone wrespective of the race Or ooundry

CDS 2010-1
Passage 23

we shall go on 1o the end; we shall fight in France, we shall
fight on the seas and oceans, we shall fight with growing
confidence and strengch in the air, we shall defend our island
wharever che cost may be, we shall fight on the beaches, we
shall fight on the landing grounds, we shall fight in the fields
and in the streets, we shall fight in che hills. We shall never
surrender, and even if this island or a lasge part of it were
subjugated and starving then our empire beyond the seas
would carry om the struggle, until the New World steps forth o
the rescue and the liberation of the Old.
8. On the basis of the passage, which of the following
statements may be sald 1o ba comect?
£] ;:: ms‘g:akcr # encouraging his men for the conquest of
{b) The speaker is aggressive and mentacal war-monger
{c} The speaker s not satisfitd with the conquest of the

(d! The speaker is a patriot urgi , .
mothedand o9 e defence of his

8. The speaker in the passage wanis to go on tighting

because
[a] he is 3 ravng lunati;
{b] he is in a state of utter despaiz

fc) he expects help from other quarters
[d) he i the beader of a suicide squad

B7.  Which of the following pairs of the phrases helps hag
\o bring out lhe intention of the speaker?
fa) "Go on [ the end” . "shall never sutrender”
{b] “Growing confidence” ; “subjugated and Starving™
(c) Sublugated and starving” ; “fight on the langing
ground”
{d) "Fight in the streets® ; "subjugated and starang”
89. The passage consisis of repelitive paltems in syntax
and vocabulary The elfact of this style ls tha §
{3) reveaks the speaker’s defexts in giving 2 speech
{b] produces the impression of bad poetry
(c) conveys the speakers helpless situalion
(d) reinforces the speaker's basic intention

CDS 2009-1
Passage 24

Popular illusions abour birds extend furcher than che use of the
word 'egg-shape’ thar would suggest char all eggs are alike For
inscance, there is the popular idea that owls hoot. Actuzlly,
only very few owls hoot and these include the common brown
ov tawny wood owl, The white barn owl screeches; the lictle
owl has a wailing cry; the long-eared owl barks; and the
shore-eared owl snarts | Anather snistaken idea is that all ducks
‘quack’, because the common farmyard duck is 2 domesticated
form of the common wild duck or mallard thar quacks

Actually mase wild ducks call with whistles,

#. The main purpese of this passage is
{a} to describe the life of popular birds
[b] to show our incorect idegs of birg life
ic) 1o show our perfect knowledge about blrds
{d] to describe the calls of owls and ducks

90. The impression created by rbpeating the temms,
‘popular’ and ‘common’ are

f2] human beings are closely attached to birds

Ib) our ideas about birds are derived from the most
common ypes tr

{c) owls and ducks are our favourite birds

{d} domesticated birds are our soyree of information about
the bwd workd

91. The common duck is not a separate species but 2
tamed version of wikl variety because it
(a) whisttes fike most wikd ducks
(b) grunis bke the tufted duck .
it} has the same call a5 other ducks
{d} quacks like the mallard '



Passage 25

s S et porsree” asked ch
o dftd g
Whﬁﬂkdi w-l‘our", with, as jt SEEmE’dh:o bﬁ}' Promprhy

rwenty=i
1 ﬂmﬁd le on his lips. The boy EVIdENLly vag I:lr:ir:eam?' )
.'#dﬂd was BOING CONCIATY ON PUrBOse, He ha g corref:l::;l 31? I
ot 0 ey, and now the boy Pefsisted in o
e * How could this Fellow P

be made to ; .
st and go up by double-promeginn, btain fifty in

te
hdﬁ_s p’;ms fondly hoped? At the mengjay, of Che first form,
I

5 felc alf bis bloed rushing 1o ki head 1

ﬂ,,:r:t’ and asked again : "How Much? 5 € controlled
g b

€ leacher, The

: al
qaid the same thing obsrinately a3t chiance. Whaen,

. . € Felt as if his fin
feasing the mggelr : he reached acrass the table, agnec[
fﬁ-.vef »d 2 wholesome slap an the young

STeT's Chesk
boy answere, tl:ne questiong
L ") with fear and anxiety
(5} with the intention 1o fail in the ¢lagg test
i 10 make same fun in the clasg
{dl when the teacher persisteq in asking

The teacher felt blood rushing tg hys head hecause
f) there was an arrogant smile on the bay's fips
|b] he thought the boy was hopaiessly gyl
) he thought the boy made the mistake defiberarely
id) the boy gave a WIONg andwer o such s.implg question

§. The teacher controlled his anger berause
(3] he remembered the fond hopes of boy's pazents
(b} he wanted to give another appartunity by the boy
k the boy was too young  pick up mathermatics fast
{d]mbtlitmfdﬂmatthebﬁymmth:tau-glﬂﬂtlcssmagain

Passage 26

| a the shop early. He was standing behind the caunter and as
wo # | saw him 3 knew that there would e some
wpleasantness. Higson is never at his best unshaven, in shppers
nd beaces and smoking on an empry stomach. The
mosphere of the little shop was heavy with the bitter odour
of fresh aewspaper's print and ink - stacks of crisp newspapers
I magazines lay neatly on the counter, and Higson and the
boy were making up che daily mend.

. & the shop Mr Higson appeared in
@ his joy of smoking
) hs most sligshod condition
the most unusual condition
) in a strange mood

+ The overall atmosphere in the shop was
) peasant, wholesome and welcome.
B heavy with &°lot of goods placed there
© with the ingctivity of the early morning
} congenial and businesstike

Passage 27 .
:L"“@' M5t have some trade; and this village has aways been
g Ky anc power, Obscure and happy, its splendid
te gy foung emplayment in wresting a fivelihood out of
vl "Mence had come a cermaln dignity, and kindliness,
for other men, Civilizarion did not relax these energies

- Comprehension 525

but it had dwerted them; and all the special qualicies, which
might have helped to heal the worid, had been destroyed. The
family affection, the' affection for the commune, the sane
pastoral virtues - all had perished No willain had done this thing :
it was the work of ladies and gentlemen who were rich and
often clever. .

91, vilage life is praised by the author because it
[3) helps villagers to achisvt material prosperity
(%) makes men complacent
[€) breeds humane virtues
(d} s free from the din and hurry of city life

3. Civilization mainly destroys
{a) the ability to create employment
{b) family affection and pastocal virtues
[cy medical Facilities for the rural people
id} agricultura; trade

99. The tone used by the author in the last sentence of

the passage is
[a) lamenting lb) sarcastic
(¢} complirmentary id) ironic
Passage 28

The art of growing ofd is one which the passage of time has
forced upon my attention. Psychologically there are two
dangers 1o be guarded againsc in old age. Gne of these is undue
absorpoon in the past. It does not do to live in memories, in
regrets for the good old days. One's thoughts must be directed
10 the furure. This is not always easy; one's past is a gradually
increasing weight. The other thing to be avoided is clinging to
youth on the hope of sucking vigour from its vitality,

100. "By the art of growing old”, the author means

lal some special skill by applving which one can grow otd
(b) that growing old is like creating a work of ant

[c) the acceptance of ofd age 25 a fact of life

(8) the refusal on one's part to grow oid

101. The passage deals with the process of growing old.
What does it describe?

(a) The decay of the senses in ol age

{6} The psychological provlems of old men

c) The desire in man o grow oly

[ An old man's ability to recollect his past
102. *Tt does not do to live in memories.” This

mesns that

[} the past is not contained in memonies

) the old men are very forgetful

[¢) ofd men often think of the pask

(d) thinking of the past does no good to o men
103. 1 is difficut for old men to think of the future because

(2} they are unable to think

(b) they do not know what the future is like

[¢) the past occupies their minds

[d) their feeling that the past was far more happier than
the present grows stronger day by day

statement
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Passage 29

It was Calileo and Newton—notwithstanding that Newton himself

was a deeply religious man—who destroyed the old comfortable

picture of a friendly universe governed by spintual values. And
chis was effected, not by Newron's discovery of the law of
gravication nor by any of Calilec's brilliant investigatons, but by
the general picture of the workd which these men and others of
cheir time made the bass of the science, not only of their cwn
day, bur of all succeeding generations down to the presant. That
s why rhe ceniury immediately following Mewton, the
gighteenth century, was notoriously an age of rebigious
skepticism. Skepticism did not have to wait for che discaveries of
Darwin and the geologists in the mneteenth century. It flooded
the world immediately after the age of the nse of science.

1G4, “The old comfortable picture of a friendly universe' was

{a) a universe governed by religious belicfs

[b] 3 universe with men like Newton who were deeply
religious

(¢} a universe investigated by Galileo and Newton

{d) the ¢entury immediately following Newton

105. Religious skepticism arose because
(a) Galileo and Newton were not religious, being scientists
(b] Newton discovered the law of gravitation
{c) of the Giscoveries of Darwin and the gealogists of the
ninetzenth century
{d) of the picture of the world that became the basis of
science afier the seventeenth century

Passage 30
Although Louis Braille died when he was anly forry-three years
old, he succeeded in devising a system of reading and writing
for the blind which is now taught all over the world. Braille lost
his sight accidentally as a child. Nevertheless, he was able o
complere his education at a school for the blind in Paris and
became a teacher. In his day, the few books that were available
for blind people were printed in big raised type; the letters
used were those of the ordinary alphabet. The reading of such
books requised immense effort. Not only that, wriring was
almost impossible, for a blind person was stilt restriceed [o an
alphabet which was extraordinarify difficult te reproduce on
faPt'f- Braille’s idea was to use raised dots, instead of raised
:l‘l"-;;ig:i :\'ﬂlm‘l a system, which made use of only six dots in
pc;isihle \ us combinarians of these dots, it not only proved
(o wepresent each letter in the alphaber, b
punctuation pnabet, Dul
Road: matks, numbers and musical notation as well
I"g and writing for the blind '
enormaudy simpi e biin have thus become
can travel mplified. The sensitive fAingers of a blind person
¥el rapudly aver che dots; and there i i

samething like 2 typewriter, whi e 15 a small machine,
quickly and dearty iter, which enables che blind to write

108, Louis Bmue
lah was boen oing
() lost his signt
] hoa r when e was 3 child
o 'S Sight accidentally when he was forty-thres yaars

[dlwunmmim,uutmmuataschuulfmmc blind

107. Before Braille's invenlicn, the blin -
reading because d had d'ﬁicu&f .
{a} there were only printed books
[bi there were no schools for the bling
[c] the few books available used the raised Iettery
ordinary alphabet of 1,
(d) the books meant for the blind were heavy

108. Braille’s system uses
(al only six dots
fb) mumbers and musical notation
fc) ordinary alphzbels in big raised fype
fd) @ combinaticn of alphabet and  punctuation

109. Braille’s system allows the blind
fal to write with ease
(k) 10 read easily
fc] to read as well 35 write with case
(@) o read casily but (o write with greal cffort

Passage 31

The Indian culture of our times is in the making. Many of us
are striving to produce a blend of all culeures that seem todiy
to be in clash with one another. No culture can Yve, # i
attempts ro be exclusive. There is no such ching as pure Arya
culture in existence in India today. Whether the Aryans wer
indigenous to India or were unwelcomne intruders, does rox
nterest me much. Wihat does interest me is the face that my
remote ancestors blended with one another with the utmed
freedom and we of the present genzration are a resul of tat
blend. | do not want my hause to be walled in, on all sides
and my windows to be stuffed. | want the cuftures of all knds
to be blown about my house as freely'as possible. But ] refus
ta be blown off my feet by any. | would have any young e
and wormen with literary tastes o learn as much of Englsh
and other world-languages as they like; and then expect them
to give the benefits of their leaming Lo india and the word
alike like a Bose, a Ray or Tagore. But | would not have

Indian forget, neglect or be ashamed of his morther tongue 4
feel that he or she cannoc think or express the best thought §
in his or her own vernacular. Mine i§ not a reiigion of the
prison house. T 1

110. The author views Indian Culture as
(a) pure Aryan culture .
{b) a clash of cultures e
(c) a continual blend of cultures
id) the culture of remote ancesiors

111. The author thinks thal ST
(a) the Aryans were indigenous th-India
(b} the Aryans were unwetcome Tntruders - iges ®
() the question whether the Aryans were
not is not of inkerest
(d) the eulture that we have inherited “‘WNH s

112. The author wants e
() the cultures of others to be Kept out Ut
{b} the cultures of others to replace oUf UH [
{0 the freedam to blend other Tultures with o
{0} the nrecsruatian af the cultaie of oUr mu:ﬁm




gthoT wants Indians to
ﬂ.ﬂ,ﬂ drcl"“ onb Engiish, 3 much as they like
! 1;: ea® English and other world kinguages
i ke

J
o 09 Passage 32

rould be said was said. All
:.H"'w::r: mother who claimed o un

fi .
his Tiseres
ge bt O 1!

of the lollowing statements indicate that he
%‘:ﬂnﬁ hope. Which statement does not? a

 He had never lost faith in Ged

He was sure there Was goodness
i) He could have evidence in his favour
i) He knew that the truth must prevail

| Whatever others said ahout him, he
[z betrayed Ao OnE
(5} thought over the problem
(&) never lost faith in goodness
i) rised his woice against injustice
. 1o the dark dungeon he always walted for
{3) his mother
b the jailer
i the verdict freging him of his miseries
i the angel to come and plead for him
17 The truth must prevail means
k) he was true
M angel will reveal truth
i) truth always wins in the end
i) we mwst plead for the truth

Passage 33

Ytk

™ man was scribibling down
the figures of co-

ﬁm mathematical formutae and calculahons
Wi mathematical signs

only the mother tongue or the vernacutar
Englsh and other world languates in addition to the

held him guiley.

e derstand hi
iﬁmhﬂ]ﬁd bﬂri'fﬂd him in his hour of need. Yer, :{.’.::et::

it M 2 sparkling hope and knew thar th

= ol I 1n the Icold. dark and damp cell ke nwirtfr:rcz
w7 gt faith in God and goodness and was waiting
#.'*m o an angel to come, piead non guiity for him and

frer while travelling by the local bus, | gt 2 SEat beside a
®f “nnge man. He seemed interested in every passenger
S He would stare ar a person. scribble some odd
mﬁﬂtﬂ notations on his long notebook and chen move
Md." hext. Being quite interested in what he was doing |

hien what all those notations meant and then came the
b Ieply. He saw & man's face not as a single unit buc as
of squares put together. He was infact 2 s;ansuﬁl
i d 2 budding artist learning the art af graphics.

passcngers
the detais of thausands of squares put 10gether
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119, The man caught aulhor's attention because
l2] hr was sitting next {o him
{6) he was staring a1 every person in the bus

(g} he would stare at every person and then scribble down
some mathemanical nolation

{d) he was & budding artist learmng the an of graphics

120. The author found thal man’s reply quile startling
Becaise

[a) @ statistical expert cannot be 3 budding SCiEntist
(%) a budding artist cannot be 2 statistical eapert

{c) graphics is still 3 rare art form and he was learning it
while traveiling in 2 bus

ld] the fact that "a man's face tan be anahysed 35
thousands of squares” was 2 slrange ontept

121, From the passage. we gather that
[a} the author is wery inquisitve
(b} the author tries to poke his nose in other people’s
business
[c} the author is interested m mathematical Rotations
(d] the suthor wants to ik to fellw passengers in the bus

Passage 34

With the inevitable growth of specialisation 1 see the
universicies facing two great dangers, First, it is very easy (& gt
so involved in the technical decails of education that the
object of education is lost. And secondly, in an effort o
condition 2 university to the needs of its students and to the
needs of the state it may Yose its power to make of mould
those students inta responsible men, capable of thinking for
themselves and capable of expressing the resuits of ther
thoughis to others.

122. The author calls gqrowth of specialization ‘inevitabie’.
Which onhe of the following statements is likely to be
the most correct reason for this inevitability?

{a) Universitizs give grants only to do specialization work in
different disciplines

o) The peofessors and  researchers in universities  are
competent only for specialized woTk

c] Specialization helps economic growth of the nation

(d) Jn an age of science and technology specializatian
becomes nEcessaTy

123. Which ona of the following statements mast correctly
suggests the central theme of the passage?
3) The aim of edutation is specialization
[b]ﬂmaimnf:dumﬁnnistﬂmuldtmvuuthmwkfﬂr
the state
[c) The sim of education is to make the youth capable of
independent thought and Expression
{d) The aim of edutation is o snable the youth to camn 3
comfortable living
124. Which one of the following statements most carrectly
guggests the warning jmplied in the passsge?
{a} Univeraly education should not be concemed  with
technical detaits

N
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(b) Universitics should not suborginate® themselves to the
interests of the state )

{r] Uniscrsities should be concerned onty with the needs of

sludents
{d] Universities shouid

Passages 35

One December night, 3 farnily had- gathered arpund thei
~reside and piled it high wath woad gathered from fmountain
srrearms and Juins of great 1rees thar had come faling down the
mountain sides. The fire roared and brightened the room wiLh
irs light. The faces of the fathey and mother had 3 quiet
gladness; the chidren laughed; the oldest daughcer was the

piceure of happiness at seventeen; and che aged grandmother
who sat sewing in (he warmest place was the picture of

happiness grown old.
175. The firewood had been

not go in for any specialization

{dl found

(at brought  (b] stoden ic} coflected
176. The parents tooked
(a] serene (0] cheerful  fol gloory jd} dull
127. The oldest daughter looked
{z) swped (b} glad (c) intelligent  {d) mournful
Passage 36
and she glanced guardedly up at

The unpleasant feeling passed

him. He was walking wnmarked
reaction o him. She felt then - this thought had come 10 her

before - that there .might be more @ him chan she had
imagined. She felc ashamed she had never thanked him for the
help he had given her father.
120. She glanced at him when

[a) he walked alone and unngticed in moonlight

(] she was sure that she wes not Geing noticed

{c] her reactions did not heve any effect on him

{d) the unpleasant feeting passed

174, Her unpleasant feeling passed when
{a) he did not take any notice of her
(b) the moonlight was beautiful
fc]-she realized her sense of shame
id] she loaked carefully at him

13). She was ashamed because
{a} she was spying on him
(b) there was more to him than she had imagined
(c} @ recurring thought came Back to her
(d) she had never thanked him for his help to her father

As | slung my pack Pasg}mu d¢37 .
. onto my fders a big mosquito thudded
ﬁm;$3MIcThmhadbeenafewthrm@thedmbutit
wﬂ_a:dﬁ:jeam-:heiqehadgomoutiustmweeﬁ
che ridge m::axcely noticed them. But now as | walked
d“'“"m“ h -&mlﬂ breeze faded, and they were on me.
bce. § ‘Mh WSESE? tundra, they peited against my
my_'“d*""' my pocket for che repellent and came up

in moonlight, iNnocent of her

121. The traveller could not luel the breeze becayse

ja) the mosquite had Witen him
[b) he was at the foot of the ridge

{cl there was no ice on the mouniain

{d) there was no breere an the tundra mountam
112 The uaveller carmied with him

{a} mosquito repelient o) a pack of foad

{c] a sling {d] a back-pack
133. When he was in the archic, the time of the year wyy

(3l midgle of winter {p) early autumn
[c] early spring {c) middle of summer

CcDSs 2008-UI
Passage 38

He dropped off to sleep. The cigarette shipped out of his moug,
and burnt 2 great black hole in his only shirt. The smart of the
burn awoke him, and he got up. cursing under his brezth, and
jumbled in the dark for 2 needle in order O séw up the hole
Otherwise his wife would see it in the morning and Wﬂuldruj
away at him for a couple of hours. But he could ot find 3
needle. He fell asiéep again.

134, The cigarette fell cut of the
(ap he fell off his sloot
(b) he was surprised to se¢ that it had made 2 hole in hs
shirt
fc} he Fell asheep while smoking
fd} he fumbled in the dark for a needle

135, The man woke up in the dark because
a} the cigarette had burnt his favourits shirt

{b) the cigarette had bumt his only shirt
c) the cigarette had to be lit again
id) the cigarette had burnt him

136. The man gut up to search for a needle because
g} his wife would be very upset
ib) the cigarette had damaged his only shirt
fc) he wanted to mend the shirt
{d) the burn-hole was huge and black

137. The man wanted o sew the hole because
(o} he wanted to avoid being scokked by his wift
(b} he had nothing else 10 do
[c} he had no other shirl
(b} he wanted to steep again

135. Which ome of the following statements best sums WP
the man's reaction to his problem?

{a) The man is extremely upset to find the shirt burnt #8
frantically tzies to repair the damage .

() The hole in the shirt and the wife's anticigated ags
are minor problems, the greater one t the M
cannot find a needle

{c) Neither the shirt hole nor the nagging not the k2
needle is of great conscquenct N

id) The man is tenificd of his wife 2nd doeas
discovering the burnt shirl

man’s mouth berayse




Passage 39

one day, about noon, going towards my boat, |
- haPPe"Ed y surprised with the print of a man's naked foort
;n exc"-ed;:gihich was very plain to be seen in the sand. |
athe :.-hﬂ n;’ chunder-struck, or as if | had seen an apparition.
good "Le? looked round me, | could hear nothing nor see
| ;-,tenfd-l vent up the shore, and down the shore, bur it was
g Id see no other impression but that one. | went to
gonec| €O if there were any more, and (o observe if it might
i g0 ‘°Iﬁw; but there was no room for thar, for there was
.ﬂ;;:::e very prnt of a foot toes, heel and every part of
el
afoot , ;
1 On finding the footprint on the shore, what did the
author do? . ,

(a) Did not pay much attention to it

(b] Observed it with curiosity

[c) Began to investigate its origin

[d) Ran away in fear

140. Which one of the following words best describes the
emotion evoked by the footprint in the author?
a] Curiosity (b} Indifference
{c] Fear (d) Surprise
il How does the author convince himself that the
footprint is a real one?
[3) By finding the person who made it
(b} By being told about it by 3 witness
fc) By thinking about it for some time
(d] By examining it carefully and noticing its details
M2 Which one of these expressions best brings out the

effect of the footprint on the author?
{a) Seen an apparition

6] Stood like one thunder-struck
(c} Went up the share
[d) Looked round himself
143. The passage is full of short simple sentences. Their
purpose is to
(a) facilitate easy understanding
(b) give a plain narration
() convey breathless excitement
{d) imply the inability of the author to write in a better way

" Passage 40
While | stood drinking in the beauty of this placid scene |
3me conscious of an alteration. In a moment the sole porter

:"“fflgﬂd frora his midday nap, operated a signal that clanked
":’1'5'? Nto position, and then ambled slowly towards me for
My *etum-half-ticker, whilse | r.

e : gmarked that his red amiable
, Eai?'ﬁﬂlng BaIt were in perfect harmony with the
anguy| 5urmund1ngs.

"5 of smoke on
Neath
Méarer, ¢

4 Cregl

the horizon with a dark snake crawling
It announced the approach of the train. As it drew

he deep silence of the place was gradually displaced by
"8 of brakes and 3 hissing of steam. '
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Save for myself, no one entered the train and no one alighted,
The porter with leisurely expertness, trundled a couple ‘of milk
churns on board, the door was slammed, the guard s-gnalled to
the driver, and we moved off, leaving the small stanan once
mare to 1ts drowsy silence.

144. What does the author suggest by the word ‘placid'?
(3] The scene was filled with noise of the train
[b) The place was filled with lively humanity
lc) The place was quite and lonely
(d) The horizon looked smoke laden

145. Who/What does first break the silence of the station?
(a) The train * [b) The porter
[c) The passenger (d) Milk churns
146. Who had a midday nap?
(a) The author (b) The passenger
(c) The Station-master (d) The porter
147. The central idea of the passage is

(a) leisure and peace (b) hurry and noise

f¢) activity (d) the Porter
148. The meaning of drowsy is
(a) untidy {b) sleepy
() freezing (d) drugged
Passage 41

Derving your authority from the government, your position
would secure the respect and consideration of everyone,
especially in a service where official rank carries so much
weight. This would secure o you every attention and comfore
on your way and there, together with a complete submission
to your orders. | know these things are a matter of indifference
T0 you except so far as they may further the great objects you
have in view, but they are of importance in themselves, and of

every importance to those who have a right to take an interest
in your personal position and comfort.

149, ‘The great objects' in
(a) significant items
[c) precious merchandise

the passage means
(b) noble goals
(d) objects of praise
150. The writer is asking his reader to accept
(a) great objects
(b) a respected position
(e} an official rank
(d) 2 significant assignment

151. The person addressed is most likely a

(a) social worker (b} government servant
(¢} commercial agent (d) foreign dignitary

152. The writer's attitude towards the person addressed is
characterised by

(a) officiousness (b) flattery
) humility (d) arrogance
a
153. The above passage most probably is a part ‘:{on
(a) speech (b) official communicatt

(€] written report (d) p:rsnnal letter



530 CDS Pathfinder

Passage 42

s 2 ime for resolucions. Mentally at least most
da's and donts. The

le formidable lists of .
recur year in and year our Wi
jence has raught us that

s are bayond aLLainment. If we remain
only because we have so often
from failure. Mast of us
ause our schemes are

The New Year
of us gould compi
same old favourices

monotonous regularity.
certain accomplishment
invererate smokers. it is
experienced the frustration that results

fail in cur efforts at self-irnprovement bec
r00. ambitious and we never have time o carry them aut. Wwe

also make the fundamental error of ANNOUNCIRE our resolutions
to everybody so that we look even moré foclish when we slip
back into our old bad ways.
158, The phrase ‘formidable lists of
that
racter 8¢ formidable

do's and don'is’ means

la) the tad powts of our ¢ha

(b] the list is so bong that it is frightening

{c) the things that need to be included 5 frightening

{d] the realisation that we are 5o imperfect is frightening

{65, *The same old favourites GCUL....... Will],; TIOROLonous
ity implies that

fa) we wont tubtsﬂpﬂﬁ!t'_fthitwcinﬂudrsum items
reguiary

(b) we have been 50 regularly doing. certain things that
they have hecomt MONDLORQUS

(c} in spite of repeated faill
ope mole tme

fd) some favourits gctions if repéa
menolofiQus

156, The autbor seems to imply that many are .nysjerate
smokers becauss

[a]thcvhavtmtraﬂw_.rtricdtoghre up Smking

6} they know from past experience that: they caR, never
sycesed in their attempt 10 give up

(e} they want to forget the frustration of not. smeking

{d) they do not have the will power 10 stop &meking

157.1'hnnulhursa?!ﬂ:atmnﬂu!mfaﬂinnﬂlattmp¢snt
self-improvement becalse
fa) we set 1o high goals for ourscives

b} we do mot have the persistence of mind
{:]nurnauueissudrthatmcanmtbemmcpﬂfect

fd]::a&mpcﬂmﬁmﬁmbcma part and parcel of
158, The anthor seems to think that othess
l[:.};c:ihapwwhmmsﬁphﬂmauruﬂm
[d“m”tﬂﬂvwaiﬂustoimm:oursdm
0 m ready to tease and Jaugh &t Qur attempls
might embarrass us by praising oux atternpts

CDS 2008-]

res, we Still would like to iy
ted often could become

As chlzation mmmﬂ

the poi ; tha direction of -

o g e nc eni o He oo ek

WW‘;M“'WMMmamn:mm::
rovide and Rulfd needs which have hitherto

been regarded as unnecessary OF ON the othe; b
rechnolagy o reduce the number of hiaurs of work nd
must do n order to earn a given standard of |i,_,“h[h‘“1ar.
words, we either raise our standard of living above d;"g % othy
for comfart and happiness or we legve i At this |.w:: m"l
shorter hours. | shall 1ake 1t as axiornatc that mgnk; i
chat time. chosen the larter alcernative. Men wik bu;d "t gy
shorter and shorter haurs in their pad employmen Wiy

”»

159 vThen we are 'aCEd W‘tﬂ'l a choice ... Whﬂt dm m._

refer to?
fa) Then automation takes v
T "‘anY m Df hmn E

{b) The present stale of civilization

fc} The past stage of civilization
id) After hawng provided the basic essentials of fe

160. What does the passage suggest about the 1se 4

technology?
{a) It creates new and essential needs for mankind

(b) bt is opposcd (O the basic esentials of life
) It is complementary to a raised standard of lving

fe
(0} It 5 responsible for man's fove of comfart and Kppes

161, What does increased use of technology imply?
(a) An advanced stage in human civilization

(o) A backward siep n human culture
fc) Unnecessary comfort 2nd happiness for mankind

{d) Man's zes for more and more wink

162?. What does the author suggest?

{a)- Man will gradually rist above his peseat stage i
civilization

fb] Man il gradually settle down to the same stge wih
fewer hours of work '

fc) Man will gradually raist his standard of Wi b
working longer hours

{d) Man will gradually eam a given standarg of (ing Wik
the help of technology

Passage 44
It is said that ideas are explosive and .clangerous. To dla¥ e
unfertered freedom is, in facc 0 invige disorder. But @ e §
position, there are at least two final answers It is inposse ©
draw 2 line round dangerous idess ard any at x e
definicion involves monstrous folly. if views, noseover, whe e

disorder are able to disturb the foundations of the e L) thee 3
of the st

mhing supremely wrong with the governance o
disorder is not @ habit of mankind, We ding 5 M:wm 8
accustarmed ways that, as even Burke insisced, populr
always the sutcome of a deep popular sens® of wrong
163. What is the central point that the passag®
{a) It it wnnecessary to define dangerous WS d
[b) Dangesous ideas are bom Out of the ot t
frecdom i
o) A wel-governed state i5 unaffected DY dﬂ'ﬂ"‘;;@
(d) gglmm ieas criginate from man's preocci




i { the
close study of lhe passage. w:]m}lu :me &
164 s statements emerges most eary .
munmnqmm 15 against Lhe cxercise of pnlmcall ;re am
8 :::: & indifferent to dangerous and ﬂplnﬁwt'l (|, ea:h -
ﬁ He welcomes violence 35 3 method
¥
nments
l;:ﬁ."::s.rarrns- that wiolence is the outcome of popular
» dissatisfaction with the government

n i erly lo our accustomed
T e of the following stalements may be
waf;ﬂ.nmd as the assumption of the author?
m;;! We are afraid of social tha:jgt:s
(6] Mankind is averse to any disorder

() We have developed inertia that makes us incapable of
spmal action

{¢) There is an all-round lack of initiative in the society

166. Which of the following statements may most correctly

bring out the significance of the opinion ol Burke
guoted in the passage?

(a) Burke advocated violence against injustice

[b) Burke’s opimon concides with the author's opinion on
explosve and dangerous ideas

() Burke hated any popular uprsing

{d) Burke had no beliet in political liberty

Passage 45
The psychological causes of unhappiness, it is clear, are many
and vanous. But all have something in common, The typical

unhappy man is one who, having been deprived in youth of

some normal sanisfaction, some come to value this one kind of
sasfacoion more than an

y other, and has therefore given to his
ffe 2 one-sded direction, together with a quite undue
emphasss upon the achieverment as opposed to the activities
connected with it There 5, however, a further development
which 15 very common in the present day. A man may feel so
completely thwarted that he seeks no form of satisfaction, but
only distraction and oblivion. He then becomes a devortee of
Pleasure’. This is 10 say, he seeks to make life bearable by
bﬂmming

less alive, Drunkenness, for example, is tem
: , pora
sucide — the happiness that it brin 4

Bs is merely negative, a
momentary cessation of unhappiness, i

167. Who is a typical unhappy man?

{a) One who has been

(b) One wha finds |

[c) One who does n

[d) One who seeks

88, “One sided dire
one of the following?

() Prinking ang forgetfulness

Tht_ s_altisia:tlm one had been deprived of
fe) Activities leading 1o happiness

(d) Every form of psychological satisfaction

deprived of normal satisfaction in youth
fe unbearable and attempts suicide

ot mind momentary unhappiness
every form of satisfaction

clion” refers to the pursuit of which

(o] forget their

Comprehension 531

{b) get sublime happiness
(c) getl the motivational needs fulfilled
{d) concentrate harder

170. What does “becoming less alive” imply?
{a) Neglect of health
() Decling in moral values
(¢) Living in a make believe wml.d.
(d) Leading a sedentary way of living

Passage 46

| the limit of forgiveness? It would probably have
K:ita{?o::;ﬁy many of the ancients that an unforgwving temper
was not to be commended. They would have said, we areknot o
exact a penalty for every nice offence, we are to overloo sc:lme
things, we are 1o be blind sometimes. But they would have said at
the same tme, we must be careful to keep our self-respect, and to
be on a level with the world. On the whole, they would have said,

it 1s the part of a man fully to requite to his friends their benefits
and to his enermies their injuries.

171. Which one of the following is the correct statement?
According to the wriler we must

(a) ignore an offence if it is nice

(b} forgive people if they bring us nice presents
[c] forgive pretty offenders

(d) not punish each and every offence

172. Which one of the following is the correct statement?
We must

(a) be blind if we want to forgive others

[b) be blind to the faults of our friends

(e} be indifferent to what others do

(d) overlook certain things

173. Which one of the following is the correct statement? In
ancient times people were '

(a) ordered to lose their tempers

(b) permitted 1o lose their
enemies

E]_I li:l::: that it was not good to have an unforgiving temper
advised to forgive each angd i
ol agn P every offence committed by

174. What is the underlying tone of the
(a) We must be forgiving in general
(b) We must forgive our friends
[c) There is no timit whatsoever to ouyr
(d) We must always Punish the wrong

Passage 47
Once upon a time | we

, 1 nt for a week's holiday in th inen
with an Indian friend, We both enjoyed nrjr;etvez E:gtl::ﬁt
sorry when the week was over, but on partng our behaviour
was absolutely different, He was plunged in despair. He felc that

ecause the holiday was over all happiness was over until the
world ended. He could nor express his sorrow too much, but in
me the Englishman came out strong | could not see what
there was to make a fuss abour. It wasn't as if we were parting
forever or dying. “Buck u

P" | said, "do buck up”. He refused to
buck up, and 1 lefc him plunged in gloom.

tempers and not forgive their

passage?

duty to forgive
doer



G T TR PR

LR ol s

532 ¢DS Pathfinder

in 1he contuxt of the passage?
b The countoysde
idl Europe

175. What 15 the continent
[al An isand
fch Africa
176, Whal does the author mean by ‘Buck up'?
{a} Buckle yourself up {b} Stand up
fc} Cheer up fd] Shut up
177. Why was the Indian irend plunged n despair
fa] He was hopeless
ik} He experienced racial giseTirninaLion
{c} He woulkd never be so happy again
fd) He had spent lof of money
179 What does 'but 1n me the Englshman came out strong’
impiy?
[a) He was a strong Enghishman
{bl He had the typicai Fnghsh character
j= The Englishman went cut of him
[d] He started foliowing Indian tradibons

179. What is the author's intention in the passage?
{a} To contrast the Indian character with the Engiish

character
fo) To show ehat an Indian s sorrowful
le) To ridicule the Indian tradilions
(8) To prame the Englishman

Passage 48
The world is very full of people-appailingly-full, it has never
bean so full before, and they are all tumbling aver each
other. Most of these people one doesn’t know and some of
them one doesn't like. Well, what is one to do? There are
two solucions. One of chem is the Nazi solution, If you don't
like people, kill them, banish chem. and segregace them, The
other way is much less thriling, but it is-on the whole the
way of the demacracies, and | prefer it If you don’r like
people, put up with them as well as you can. Dran't oy o
love them ; you can't, you'd! only strain yourself. Buc iry to

roterate cherm.

180. What does the author mean by ‘appallingly’?
{a) He is making an appeal to the leaders of the masses
{b) In disconcertingly farge numbers
f) Very interesting

te) Unpredictably
38). Which one of the following is the comect statement?

According to the writer, Nazi solution is
ﬁ the easiest solution fb) the readiest selution
. t: the nations! sabution  {d] the Hitlerian sofution
~Whmhnmo¢ﬂm‘mnwinglsthemectstamnem?

The author thinks hat
thrilling bacause it i tha other solution is much less

) based on lokerange

{al doll
[ lacking i adveritype

fel not based on love
183. which one of the folluwing is lhe correct statemen;
The author prefers Lhe second saluliom because

[a] he Wikes It
{b] he is nat a Maz
fc] ke 15 essenlially being a democrat

{d] thete s no Other way

Passage 49
We should preserve nature [o preserve life and beauty 4

beautful tandscape, full af green vegetanon, will not jus artracy
our areention buc will Bl us with nfinite saostacoon

Unfortunately. because of modermzarion. much of narure o
now yelding o owns roads and industnal areas. In a few
places same Natural reserves are now beng carved out 1o aver
the danger of destroying Nature completely. Man wall perish
without Natare, s0 modern man should conrinue this struggle
to save plants, which gwe us oxygen from extincrian
Marsover, Nature is essential 1o man's heaieh.

184. What does ‘nature’ in the passage mean?

i3) Countryside cavered with plants and trees
(b} Physicai puwer that created the workd
ic] lnhgrent things that determine characler

(0} Practical study of planis and animals
185. Which one of the folfowing is the commect statement?
According to the passage,
fa) beaury is only skin-geep
{b] everything is beautiful in its natural state
{c) thers is beaury in Nature
fdl Mature s = moral teacher '
186, What does the wriler suggest?
{al We should not modemize, 5o that Nature can be presened
{b] While modernizing we should be carefi] not to destroy
Nature completely
.ic) All Nature has been gestroyed by modem living
“1d) Carving out Natural reserves will hamper the growlh of
imlustries L
187. What does ‘struggle’ in the passage mean?
{3) Man's struggle o @ast in the word
fla} Man's struggle 10 save Nature
fc) Man's struggle to calch wp with modemn trends
id] Man's struggie to conserve axvgen )
188. Why a beautiful landscape "will fill u§ with infinite
satisfaction'?
fa) We love beauty
{b] It is full of green vegetatinn
[c} It will ensure our futurs existence
idl it will show our command over Malure




Answers

percise |

1.

10.

1.

12.

. department

13

14,

) In statement 1 'totally prohibit’ is wrong because this is
{c: mentioned in the passage. As per passage modern
::anamics see everything from monetary approach, attitude
for natural TeSOUTCEs is NOL uneconomic as given in statement
2. Only option (3) can be linked with passage as it 15 given
directly in the passage.

(a) Buddhist point of view says that non renewable resources

should be used only when need cannot be avoided and
conVersation is highest concern. Same thing is mentioned in
option {a). Other options are not true as per passage,

(c) Buddhist economists are not concerned with the prices of
oil instead they are against the use of non renewable resources
extravagantly or carelessly. So opuion (c) is right,

_ (b)Purpose of writing this passage is to emphasize the need of

conservation of non renewable resources and author indicates
this by giving Buddhist point of view in favor of this he
discusses modern economsts to show dissent o their
manetary approach to these non renewable EMETEY resources

versus renewable resources. So Option (b) 1s more appropriate
than option (a).

. (¢ ) Passage starts on this note and in whole of passage this

idea is developed through various examples.

. [d) According to passage domestic chores are monotonous

hence time consuming activities. Other options are not given
in the passage. Option (b) is wrong because ‘demanding’ is
against the spinit of passage. As robots are for ume saving to

gain leisure time but not to decrease the workload, as can be
inferred from the passage,

. (3) Robots are already being used of risky tasks as in mines and

factories. Risky is synonym to hazardous

. (a) Development is work of scientists and it is said in passagi

that it requires a lot of research for developing rebors.
Question of capital investment is appropriate only after the
model has been developed already.

(2) Meaning of ‘insurmountable’ is unattainable as used in
passage.

(d) Passage starts with this sentence. Other options are out of
context and are too farfecched,

(d) Passage says that industries in the world require huge
supply of energy bur they cannot base their demand on the
oil wells only as they would dry in coming time and therefore
can be called 'fragile’. So oil wells are described as fragile base'.
(d) The issue discussed in this passage 1 popular one as
everyone is concerned with depleting oil supplies. Solution to
the prablem is scientific. It is a matter of concern for any
related to energy supplies for industries. But the
type of writing as used in passage is political. As ‘can not be
allowed" seems very political in essence.

(€) Death is natural phenomenan as leaves or fruits fall from
the trees. This is destiny of all.

(d) Ripeness is figurative for maturity which indicates fullness.

0 ng implies that a natural inevitable phenomenon like
At

occurs after a certain period, for a fruit this period is
"elated with ripening of it

15.

16.

17.
18.

18.

20.
21.

22.

23,

24,

25.
26.
2.

28,

29.

30.

3.

(b) Opuon (b) is only logical statement which can be the
answer of this question. Other options are not even close as
these do not bring equality issue to fore.

(b) Theme of passage 15 unigueness brought by innovative
ways - ‘stand out’, ' set yourself apart’, "distinctive approach’
'no longer just another tearn’ are some of phrases which clears
the opimon of the author.

(b) Last line of passage shows the profession of the author,

(d) As described in the Q. NO 16, Theme of passage s
unijueness brought by innovatve ways - 'stand out’, * set
yoursell apart’, ‘distinctive approach’ 'no longer just another

team’ are some ol phrases which clears the opinion of the
author

{c) As author wants to do something different from others to
get notced in competition he took the less treaded path of
writing scripts for minor characrers.

(dd) First sentence of the passage states it.

(d) According 1o passage, wind power has now entered the
commercial mainstream from being understood as an

alternative energy Subsequent parts of the passage describe it
with examples of India and Germany.

(c) Passage says 25000 MW installed but the option says
25000 MW generated, these are two different things. In
option (d) America 1s wrong as Germany is being discussed in
the passage not the Amenica Option (b)) is against the passage
content. Only option (c} is directly stated in passage.

(d) ‘Getung a ticker for running a stop sign’ means gerting a
shp mentomng fine amount alter jumping the stop signal,
Caroline was driving without license or not is clear from

passage. Speed limit s not an issue here. Lacal train is out of
context,

(d) It s clear from the answer Caroline gave to Judge when he
asked the same quesuon.

(c) She was a part of the group of prospective jurors who

were autending the training session as mentioned in the
passage.

(€) It is clear from the intent of the whole passage that the

courtesy was invariably given to author hence it was almost
inevirable,

(d) Author gave the toned down reason to ‘human touch’

and this human touch comes from closeness of author o
Englishmen,

(d) 'Should treat” indicates that they started to treat him
respectfully because of his widespread populariry.

() In first sentence of the passage author presents English as
mast important language and in next sentence he states this
as a reason for studying its evolution.

(a) This question is to be answered by option method 25 3/
other options are against the content of the passage .-
(d) Objective evaluation is based on rationale and detal
second part of passage by the author.
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32.

33

35.
36.
37.
38.

39

41

42

44,
45,
46.
47.

48.

51

52
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is given as the reason for the frustration of
ployment results from the value less

terronsm. So opuion (a) and
{d) 15 out of

(b) Unemployment
the youngsters. This em
degrees and result of frustracion is
(b) should be understood n this way. Option

context

(c) Responsibility of compreh
process of young person is given 10 SoC1ologsts by the author.

(d) Passage mentions that frustration s the reason of the

violence along with unemployment. Ths 15 directly wnigten in

the passage

(b} To resist restrictions and struggle to come O
natural tendency for living bengs

() It 15 directly wnitren in the passage that it moves
to find a way out.

(c) As idenufication with the
free get suppressed.

(b} Urge to free is given as the reasan e
its shape

(b) Dictionary meaning ol
o Detaled precise descripti

e Graphic representation of the surface
region on a map. mndicaung ther relaove posit

elevatons
e A description or an analysis of a structured entity, showing
the refations among 1ts companents
on 1s formal instruction based education,
just the parts of school discipline.
ons of the children of
countryside children

ending, analyzing the thought'

ut of 1t 15

here there

atuation Ngreases urge to get

s constantly changing

TOPOCRAPHY

an of a place or reglon.
features of a place of
ons and

{c) School Educat
Orher oprions arg

(¢c) Passage disninguishes the situat
Urban and countryside, finds benefits of

as they are freer,

(a) Topographical relevance Is central pont of passage.

(d) When you ralk openly you reveal yourself to your pariner.

subsequently partner SIop BUEsSINg.

(d) According to passage first you

yourself. See the third line of passage.

(a) Leaving passive meditation one should try to

with oneself

(¢c) Change 15 only possible after assessing the

situation for an archiect

(b) Revelation s to disclose, to know the unknown, to open

the hidden truth, . B

(c) 'Freedom of Press s freedom from restriction in technical

terms.

L?__]';‘Eh‘“eplti:!” ;:;nan ES} :e out of place. The public policies can
on L4 |

press 5 per pascage r two are direct controllers of the

(d} Last senrence P

restncions are '|nd4n‘ef:nlla;::|::5' 2 mtdedine

[a) Mes
e 0:'“&2 ::‘; a waﬁ;e of ume as hours are spent on side
agendas. g each other than on the core issues or

people in a .,.,::& 'r:;‘;:ﬂ'f held then it 1s believed by many

[E} ﬂp[m“ f’d}
Option (b) 1 uu? refuted in first sentence of the

f passage.
Latter 15 exphicitly :miz:tf:;irm: the opuion (a) and (c) ,

have to be honest with
ralk actively

present

54,
55.
56.
57.

59.

60.

B1.

63.

B5.
66.
67.

78.

79.

(¢} according o passage hon has sweetness o
gentle, sagacily- wise and courage- bravenss, of
{c) Startled means shacked and 1t also firs well wr
o the passage Wi teferer,,
{¢) Monster, human
discussed in passage

(c) As mentioned in the passage reason for going oy o
was to avoid someone following the author’s ,-ﬂmd"" of i)
(d) ‘Turmng back again and agan’ and unusual pace ing.,

inwards trouble. These signs indicate that it is more “_:1;41_
escaping or ﬂmldlﬂg. QOpuon {a) and (b) are total, ,-,.r:_,._ Juge
context of passage. g
(c) Holding elbow of

something 1s sign ol panic.
they have not even mentio

(b) Though question 15 e bit confusmg along wer
catement 1n passage but it can be said that every bo a4
every girl 15 involved, might be n some tribes though

(a) Author mentions that purpose of all this reveat was o
secure the lifelong protection of an indwvidual spnt and gan
some mystery power by getung aid of these wanderng span
which were heard during this wigl

(¢} Last line of passage clears the option choice.

(b) Sound of gale uppressed the voice of hitle boy
passage clearly shows that boy wa

I1““ﬂ fhe

similanty or usual crygl
i J

near one suddenly after e,
Other OpLONS are INapproprate 5
ned n the passage. '

{d) First sentence of
walking behind fus parents.

(b) When therr dog started
then they realized/discovered
(d) Author thinks that dabbawallahs are by-product (produced
cimultaneously as a necessity) of over population of aty
(c) Passage links comfort with taking lunch at home for®
proximity.

allahs as a necesuty ard

(d) Author explans role of dabbaw,
gives reasons for 1t s 1L 1S his objective observation for them

(b) During winter, birds cravel for coming down the bl

(c) Birds on their part are very punctual but due 10 b
weather conditions they get delayed

(d) Sunrise and day time are Wrong In dark does N°
midnight.

(b) Being in book trade for long
passage in third sentente
on

o bark funiously at hebcopte
that what had happened’

[ |'T'|p‘lr

pme he left the book Ak

(a) It is mentioned in
(c) Last sentence of passage ralks about auct
of author for it.

(¢) Author himself declares thar his rmischief did ne “::ri.
(a) His trend of passing examinations 15 shown ;; wth
managed’ and this trend of passing examindt
difficulty continues for BA examination also.
(c) Author stars passage on this note. The
teacher's attitude in lighter vein.

(c) Walking is least strenuous, safe exercise and
or recommended. |

(a) Walking helps reducing th
opening up the narrowed areas.

(d) Rupture/ bursting are given a
elasticity of blood vessels.

and wnterd

o he dﬁ.‘.i’.!-
_'l_CfI-'?:

[
L‘
e chances of heart 4

i
Tl
¢ 2 cause StOke ale!



—

8

B5.
86.
B7.

B9,

90.

9i.

9z2.

9.

%,

son for this type of disguise is midin;
( M-::,: Efmf:eb.:fﬁ:w farmers can be assaciated with less

lal
i:lslgnve nature but that cannot be reached at from che

pa.ssagf. .
(a) Plan was L0 hide the message and this "ﬁﬂhﬂ'fﬂiul_.g? :’35
adopred. Writing the message is possible on bald head 1s
logical.

(a) To hide the message from the messenger is not given n
the passage. Economical is not the intent of sender. Sending in
person is nor 2 guarantee of safe message. Intention of
General was to conceal the message from the enemy.

(c) As tigers and lions are difficult to poach, leopards have
become the centre point of poaching so there number will
come down.

(a) Tigers are given medical value in China as given in passage.

{¢) Other options do not have poachers in them.

(¢) It was a dream of Sabu to make a sequel for the Thief of
Bagdad.

{b) As he rescues the kingdom of Bagdad along with Princess
he cannot be said to be only ardent lover. He is benevolent
{kind) hero,

(d) Dream was to make a sequel hence to continue the story
and it comes true when his daughter did thac

(a) Some examples of regeneration are given in passage 10
support this option, Festive time is not given in the passage.
Period of plenty is too wide a term. Oprion (b} 15 not from
passage.

(b) Everywhere there 1s spurt in activity - housewives, houses,
lizards, flowers, etc.

(b) Lizards come out for fly-hunting as mentioned in last
sentence of the passage.

(c} Author compares the telephone with a pest because it 1s
killer of valuable time.

(d) It creates suspense and anxiety if expected call does not
come.

Exercise Il

1.
ra

0o N, A

n,
12,
13.

(2) The first sentence of the passage gives the answer.

(b) Answer can be inferred from the second last sentence of
the passage

(d) The last sentence of the passage gives the answer,

(<) The third sentence of the passage gives the answer,
(a) The first sentence of che passage gives the answer.

(c) The last sentence of the passage gives the answer.

(d) The second sentence of the passage gives the answer.
(a) 'Stupendous’ in the passage means very high.

(a) A i

!hl p:zeg; Ican be inferred from the second last sentence of
‘:;]' The second sentence of the passage gives the answer.

(b) Obvious answer fro

m among the i
(d) ety cancy i B grven options.

the passage.
d 3
() The first few fines of the passage give the answer.

5.

96.

97.

93.
100.

101.
102.

103.

104.

105.

106.

107.

14,
15.
16.

17.
18.
18.
20.
21.
-22.
23.
24,
25
26.
27.
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(¢ ) you always find people waitng before you in public boath
and you are already in hurry unless you have gone for public
booth so altogether this becomes hornble expenence

according to passage.

(b) In very first sentence of the passage it has been given that
each type of protein performs specific  funcuion.
Interchangeability of functions is not discussed in the passage.
Availability in all organisms is not menuoned in passage.

(c) Passage confirms this option with giving examples of
proteins and then explaining thewr functions.

(a) Function of enzymes is to direct all body cells chemical
reachions.

(c) Different but completng each other in a sense can be
interpreted through the passage for father mother of the author,

(a) Responsive face means evidently showing the inward
feelings. Other options are absurd
(d) Moral view point 15 based on ethical judgments.

{d) Oprion (a) is wrong as it goes against the passage. It 15
courtesies not oprions of mood to say 'please’ as per passage.
Option (c) is also against the sense of passage. According to
author it should be used as a cwilized custom.

() According to author these little courtesies keep machinery
of life oiled and running sweetly or in other sense keeping life
pleasant.

{c ) Author has not mentioned specific use of these words in
specific groups. 5o it is like a social custom for author that
should be used by all,

(b) First sentence of the passage s refllecting the purpose of
author to look for a place to put her daughrer's memairs.

(2) It mentioned in the passage as it is. It is matter of just
locating the place of this in passage. Other options are far
from the passage content.

(c) As no place in the-house looked safe for author he put it
right leg of his trousers. This question is about the poems of
author not about the memoirs of her daughter so option (b)
or (a) are wrong.

(b) Clear from the reading of the passage.
id) The fourth sentence of the passage gives the answer.

(c) Clear from the second last and the third last sentences of
the passage.

(<) Can be inferred from the second sentence of the passage.
(a) Clearly stated in the passage.

(a) According to the passage other three can't be the answers.
(a) Option (a) correctly expresses the meaning.

(d) Clear from the reading of the passage.

(b} Refer to ‘Some of ......... were done’

(b) Can be inferred from the third sentence of the passage.
(c) Refer to "prevennve against smallpox’

(b) Can be inferred from the last sentence of the pastige

(a) Easy choice from among the given Oprions

(b) Clearly stated in the passage.
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26, (¢f) Refer to ‘No doubs ... ... humanistic educai i,
28 [{d) Can be inferred from the lasr few senCences.

30. (c) Can be inferred from the Jast sentence.
J1. (d) The first sencence of the passage gives the answer,

32, (c) Easy choice from among the given options.
43 (b) Can be inferred from the second paragraph.
J4. (¢) The lasc sentence of the passage gives the answer.
35, {b) The last two sentences of the passage give the answer.
36, {c) Clear From tha reading of the passage.
37 (k) Easy choice from among the given option,
3. (a) Refer 1o ‘By this ......... s¢nse organs’
39 (c) Cbvious fram the reading of the passage.
2. (b) Ezsy chowce from among the given oprions.
41. (c) Obvious choice from among the green oplans.
42, (d) Refer to the third sentence of the passage.
43. {b) Gin be inferred from che second last sentance of che
passage.
44, (a) The last sentence of the passage gives the answer.
45 {a) Clear from che reading of the passage.
4E. (d) The second sentence of the passage gives the answer.
47. (b) Refer to ‘threarening manner’
48. (d) Refer to band of savages’
49 (b) The third sentence of the passage gives ehe answar.
L3, (c) Obwiaus from the reading of the passage.
Bt. {&) Obvious from the reading of the passage.
52. (d) Al other aprons are inappropriate
§3. {¢) The second last sentence of che passage gives the answer.
B4, {d) Refer o “The heat wave ... lazed abour’
55. [a) Clear frorn the readmg of the passage
56. (c} The first senrence of the passage gives the answer.
&7, (c] Clearly stated in the passage.
58. (d) Quearly stated in the passage.
99. (d) Refer o "Luckily ......... Investigate’,
BJ. (2) Can be inferred from the sentence To tws astonishment”
B1. (3) Can be inferred from che last semtence of the frst
paragraph.
B2. (d) Clear from che reading of the passage.
B3. () The words ‘great deal of panting' imply (2}, {3) and (4).
B4. (c) Clear from the reading of the passage.
BS. (b}Referco......... and his eyes sparkled ......... for customers’
68. (d) Can be inferrad from the first sentence of the passage.
g' ::5: z::"" “Pﬁm_s are dearly inappropriate.
. from reading of che passage.
83, (<) Clear trom che passage,
:ﬁll. (h]nﬁhﬂﬁnmnfmmeﬁm“m‘
‘{I]&‘TMEEMM:h!m .
optioas.

73.

74,

75
78
17
. [d) The last sentence of the PasSESE BivEs the s

—

1.

102.

103.

104.

105.
106.
107.

108.

109.

10,
1"

12
na.

114,
1i5.

2BERIBRRRES2R

BEESBRER W

{b) Coavrecr m the context of the Fassage.

{bj Can be sasdy inferred From the Passiga.

{d) Clear from the reading of the passage

{dl) Easy chaice from among the grven OPtinns

(d) Opeian{d) best describes a “courtship behawg,
{c] Opoonic} brings out che precise Mearing, "

fd} Can be inferred from  the
provokss, ... réspected supenors,

(€} Clear from the reading of the passage.
{a} Can be inferred From the beginning of the Passage

fe) Refer o ......... 50 it is essennial_inhuman i

{d} Refer vo ‘Essential also ... soil.

{d} Clear from the seading of the passage.

(d) Clear from the reading of the passage.

(<) Easy chouce From ameng the given apuiors,

(a} Cpronia) is the apprapriare choice.

{d) Obwious choice from among the given dpyons

{b) Clear from the reading of the passage.

{b) Cpeionlk) is the most appropriare chorce.,

{d) The second last sencence of the passage gives the aopue,

{d) Refer to ‘The reacher persisced, and the bay Prompry
answered’,
{c) Aefer (o ‘He had corrected. ... twenoy-for.

{a) Chear from the reading of the passage.
{c} Can be inferred from the third sentence of the pasage
(b) Can be wnferved from the kast sencence of the pasage
{c) Can be inferred frem the first half of the passage.

fb) Refer to ‘The family affection ......... all had perghed
(k) Obwious choice from among the given opton

{c) Most appropriate mezning m the context of the paisgt
tb) Clear from che reading of the passage

{d) Easy choice from among che given oprion.

{d) Can be inferred from the second st sentence of i |
passage.

(a) Can be inferred from the first sentence of the pasage
(d) Can be infered from the middle part of the pasiage
{b} Clearly given in the passage.

{c} Refer o In his day, ......... effort

(2) Clearly stated i the passage. g
(c) Refer co 'Reading and writing for the bind have

become enormously smplified”
(¢) Refer o " ......... remate ancestorsthat blend
{c) Clearly scared in the passage. . .
{c) Refer (o 1 wanc the cukwres ... 8 possiie.
(d} Can be inferred from the second half of the pE<¥°
{c) Staternents{al(b) and(d) clearty indicate hope.-

(¢} Clear fram the reading of ;he\{usug&

“ﬂrﬁkl H




) . was waiting anxiously ......... for him'.
r 10"

d) e ice from among the given options,
||.E ( o cha h ssage
U g wen in the passage.
|1’; E'ﬂ cia-’-::’ .Er:feff ed from the third and the fourth sentences of
#can
8 Eﬂ pasiif:s choice from among the given options,
@ )] o from the reading of the passage.
o e C“;“Dus choice from amang the given option,
m g o be inferred from the last few lines of the passage.
o 4] ofer 1o the second sentence of the passage.
l :;Fe: e with wood gathered
{‘]; ciear from the reading of the passage.
s [:] Clear from the reading of the passage.
i id}Th*-’ first sentence of the passage gives the answer.
Clear from the reading of the passage.
111:1 E;]}m last sentence of the passage gves the answer.
L)
! seveen. breeze faded’,
b} Refer to "But now
:i; :d] The first sentence of the Passage gives
b) Refer to ...
E Leﬁfnlt'.
it {c) Can be inferred from the firg
pasge.
1% (d) Refer to "The smart of the burn awoke him’,
1% (¢) Refer to 'in order to sew up the hole’,
| {71 (2] Can be inferred from the third lasg sentence of
18 [c) Easy choice a5 he fell asleep again,
1% (¢} Clear from the reading of the passage.
1 15 [d) Clearly given in the beginning of the passage.
M1 (d) Can be inferred from the last fey sentences of the passage.
HL (3) Opoen(a) best brings out the effect of the foot-prine on

the author
W {c) Most appropriate choice from amang
calm and peacefyl

the answer,
the ice had EONe out just two weeks

L two sentences of the

the passage,

the given oprion,
14 {e) Placig means

W5, (b) The secand sentence of the passage gives the answer,
HE. {d) Clear from th

W (a) Clear fromche reading of the paseage.
1. 5) Drowsy means sleepy. -
W (2) Mog #PPropriate choice in the context
{¢) Can be the first few lines
the beginning of
9 I from the reading of the passage,

ap?rupria:e choice from among the Biven options,
'ce from among the Eiven options.

of the passage,
of the passage.
the Passape.

Il
L |

155,
156.

157.
158.
158.
160.
161.
162.

163.
164,
165.
166.
167.
168.
169.
170.
17.

172,
173.
174.
175.
176.
177,
178.
179,
180.
181,
182,
183.
184,
185.
186.

187.

188.
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{2) Clear from the reading of the passage.

(b) Refer to ‘'because we have so often experienced the
frustration thac resules from failure’,

(b) Can be inferred from the passage.

(c) Can be inferred from the last sentence of the passage.
(d) Can be inferred from the first sentence of the passage.
(c) Clear from the reading of the passage. .

(d) Easy choice from among the given options.

(b) Can be inferred from the second last and the third last
sentences of the passage.

(b} Clear from the reading of the passage.

(d) Can be inferred from the second half of the passagel.

(c) Most appropriate choice from among the given options.
(a) Can be inferred from the last sentence of the passage,
(a) The third sentence of the passage gives the answer,

(c) Clear from the reading of the passage.

(a) Can be inferred from the last few lines of
(c) Mast appropriate
(d} Refer to *

the passage.
choice from among the given options.

SresaR We are not (o exact ... blind
sometimes’

(d) Clearly stated in the passage.

(€) Can be inferred from the second sentence of the passage.

() Clear from the reading of the passage,

(d) ‘Europe’ is the mosc appropriate choice,

(€) In the context of the passage ‘buck up’ means cheer up.
{a) Refer to 'He felg ......... the world ended’
(b) Obvious choice from 2
(3) Clear from the reading
(b) 'Appailﬁng' means shoc|
(a) Clear fram the

mong the given options
of the passage,
king or extremely bad.

reading of the passage,
(b) Clear from the reading of the passage,

(<) Refer 1o ‘The other way is much .,
(a) Clear fram the reading of



